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REASONING ABILITY
1. If 2 is subtracted from each even digit and 1 is added to

each odd digit in the given number '4325871', then how
many digits will appear more than one in the new number
thus formed?
(a) None (b) One
(c) Two (d) Three
(e) None of these

DIRECTIONS (Qs. 2-6) : Study the following information
carefully and answer the questions given below :
Eight men live in a building on four floors such that ground floor
is numbered 1 and floor above it is 2 and so on up to 4th floor.
Each of the floor consist of 2 flats as flat M, which is in west of
flat N. Flat M on floor-2 is immediately above flat M of floor
1 and immediately below flat M of floor 3 and in the same way
flat N of each floor follow the same pattern.
D lives on an even numbered floor. D lives just above the flat of
C. E lives to the west of C. One floor gap between F and H. B
lives in the east of F. A lives on the 3rd floor. Both G and H live
in the different flats.
2. What is the direction of A with respect to C?

(a) South (b) North-east
(c) North (d) East
(e) North-west

3. Which of the following floor does H lives?
(a) Floor 1 (b) Floor 4
(c) Floor 3 (d) Floor 2
(e) None of these

4. Who among the following lives just below the flat in which
A lives?
(a) E (b) H
(c) D (d) Both (b) and (c)
(e) None of these

5. Which of the following is true regarding B?
(a) Floor 4 - Flat M (b) Floor 3 - Flat N
(c) Floor 2 - Flat M (d) Floor 4 - Flat N
(e) Floor 1 - Flat N

6. How many floors gap between E and B?
(a) None (b) Two
(c) One (d) Either (a) or (c)
(e) Either (b) or (c)

DIRECTIONS (Qs. 7-11) : Study the following information
carefully and answer the questions given below :

In a certain code language
'plan to go gym' is coded as 'rt kr tz dg'

'gym today easy' is coded as 'cq rt ly'
'plan your gym today' is coded as 'no rt cq tz'
'make your plan today' is coded as 'no cq tz mp'

7. What is the code of 'go' as per the given code language?
(a) dg (b) cq (c) kr (d) 'dg' or 'kr'
(e) None of these

8. If 'easy to plan' is coded as 'tz ly dg' then what is the code
of 'go' as per the given code language?
(a) dg (b) go (c) kr (d) tz
(e) None of these

9. What is the code of 'make' as per the given code language?
(a) go (b) tz (c) mp (d) dg
(e) None of these

10. What is te code of 'gym today' as per the given code language?
(a) cq rt (b) tz kr (c) ly cq (d) go rt
(e) None of these

11. What is the code of 'gym' as per the given code language?
(a) mp (b) dg (c) kr (d) rt
(e) None of these

12. How many pairs of letters are there in the word 'CONTENT'
each of word have as many letters between them in the word
as they have between them in the English alphabetical series?
(a) Three (b) Four (c) Two (d) One
(e) None of these

DIRECTIONS (Qs. 13-15) : Study the following information
carefully and answer the questions given below :
Point P is 34 m west of point S. Point M is 68 m north of point P.
Point N is 51 m east of point M and point Q is 17 m south of point
M. Point R is 51 m north of point S.
13. If point T is 17 m north of point R, then what is the distance

between point N and point T?
(a) 17 m (b) 34 m (c) 51 m (d) 32 m
(e) None of these

14. In which direction point P with respect to point N?
(a) South (b) South-east
(c) North-east (d) East
(e) None of these

15. What is the shortest distance between point Q and point R?
(a) 17 (b) 34 (c) 51 (d) 32
(e) None of these

DIRECTIONS (Qs. 16-20) : Study the following information
carefully and answer the questions given below :
Seven persons M, N, O, P, Q, R and S are sitting in a row facing
to the north. They all have of different ages. M sits 3rd from one
of the extreme ends of the row. S sits 2nd to the right of M. The
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number of persons sit to the left of S is same as the number of
persons sit to the right of N, who is 25 years old. O sits 4th to the
left of the one who is 40 years old. S is not 40 years old. Total age
of immediate neighbours of M is 85 years. Q is 35 years old. O is
20 year older than one of his immediate neighbours. R sits to the
right of P, who sits immediate to the left of the one who is 30
years old. S is 5 year younger than O.
16. Which of the following statement is true?

(a) Q sits to the right of P
(b) M sits 3rd to the right of N
(c) O sits at one of the extreme ends
(d) None is true
(e) S sits immediate right of the one who is 40 years old

17. Who among the following is 45 years old?
(a) P (b) O (c) M (d) R
(e) None of these

18. The number of persons sit between P and S is same as the
number of persons sit between O and ____?
(a) M (b) N (c) R (d) S
(e) None of these

19. What is the position of Q with respect to S?
(a) 2nd to the left (b) Immediate left
(c) Immediate right (d) 4th to the left
(e) 3rd to the right

20. Four of the following five are alike in a certain way and so form
a group. Find the one who does not belong to that group?
(a) O (b) N (c) Q (d) P
(e) R

21. Study the following information carefully and answer the
given questions.
Six girls i.e. A, B, C, D, E and F was born on different days
of the same week starting from Monday to Saturday, but
not necessarily in the same order. A was born on Friday.
Two girls were born betwen F and A. One girl was born
between C and D. If E was born immediate before D, then
who among the following girl was born on Wednesday?
(a) F (b) C (c) D (d) E
(e) None of these

DIRECTIONS (Qs. 22-26) : Study the following information
carefully and answer the questions given below :
Ten boxes are placed one above the other. Four boxes are placed
between V and L. Two boxes are placed between V and X, which
placed above the V. T is placed just below X. The number of
boxes between T and L is same number of boxes between L and
S. P is placed just below M. R is placed just above S. K is adjacent
to L. Q is placed below K.
22. Four of the following five are alike in a certain way and so form

a group. Find the one who does not belong to that group?
(a) P-S (b) K-T (c) X-Q (d) M-S
(e) L-M

23. What is the position of R from the bottommost?
(a) Seven (b) Tenth (c) Six (d) Five
(e) Three

24. How many boxes are placed between S and T?
(a) One (b) More than Five
(c) Four (d) Five
(e) Two

25. If P and S interchange their positions then which among
the following box is placed just below S?
(a) R (b) K (c) X (d) M
(e) None of these

26. Which of the following statement is true?
(a) T is 3rd from the topmost position
(b) Two boxes placed between X and L
(c) M is below Q
(d) P is placed at bottommost position
(e) Three boxes placed between R and L

DIRECTIONS (Qs. 27-31) : Study the following information
carefully and answer the questions given below :
A certain number of persons sit in a row facing to the north
direction. R sits 3rd to the left of S. Five persons sit between S
and T. B sits immediate to the right of S. Three persons sit
between C and B. C does not sit next to T. T is 7th from one of
the ends. The number of persons sit to the right of C is four
more than the persons who sit to the left of T. D sits 2nd from
one of the ends and sit to the right of S.
27. How many persons sit between R and B?

(a) Five (b) None of these
(c) Seven (d) Four
(e) Three

28. What is the position of R with respect to C?
(a) 8th to the right (b) 8th to the left
(c) 6th to the right (d) 5th to the left
(e) None of these

29. How many persons sit in the above arrangement?
(a) 25 (b) 26 (c) 28 (d) 24
(e) None of these

30. If two persons sit between Z and T, then what is the position
of Z with respect to R?
(a) 4th to the left (b) 6th to the left
(c) 5th to the right (d) 3rd to the left
(e) 7th to the left

31. How many persons sit to the right of the one, who sits
immediate left of B?
(a) Ten (b) Seven
(c) None of these (d) Eight
(e) Eleven

DIRECTIONS (Qs. 32-35) : In these questions, relationships
between different elements are shown in the statements. These
statements are followed by two conclusions. Give answer

(a) If only conclusion I follows
(b) If only conclusion II follows
(c) If either conclusion I or II follows
(d) If neither conclusion I nor II follows
(e) If both concusions I and II follow

32. Statements : J V R M, L M I H£ < > > = ³
Conclusions : I. H M£ II. V H³

33. Statements : I H B N D L= ³ ³ < >
Conclusions : I. L > H II. B < N

34. Statements : Z O G I S P> = < £ >
Conclusions : I. P > G II. S > O
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35. Statements : K M W T Y Q³ > ³ £ <
Conclusions : I. T < K II. T < Q

DIRECTIONS (Qs. 36-40) : Study the following information
carefully and answer the questions given below :
Nine persons sit around a circular table. Some of them are facing
to the centre while some are facing outside the centre. M sits
2nd to the right of A, who faces inside. Two persons sit between
M and P. J sits 3rd to the left of P. L sits 2nd to the left of J, who
does not sit next to M. B sits 3rd to the right of L and is an
immediate neighbour of D. N sits 4th to the right of H, who does
not sit near J. Both B and D face same direction as A. M and P
face opposite direction to each other. N does not face outside.
36. How many persons face outside from the centre?

(a) Three (b) Four
(c) None of these (d) Six
(e) Five

37. How many persons sit between P and H, when counted
from left of P?
(a) Three (b) Five (c) Two (d) Four
(e) None of these

38. What is the position of D with respect to N?
(a) 3rd to the right (b) 2nd to the left
(c) Immediate left (d) 3rd to the left
(e) 5th to the right

39. How many persons sit between J and H, when counted
from the left of H?
(a) Five (b) Six (c) Four (d) One
(e) Three

40. Four of the following five are alike in a certain way and so form
a group. Find the one who does not belong to that group?
(a) M-H (b) L-M (c) B-N (d) H-D
(e) B-D

QUANTITATIVE APTITUDE

DIRECTIONS (Qs. 41-46) : Pie chart shows the percentage
distribution of total girls appeared in six different shifts (S1 to
S6) of an exam. Study the pie chart given below and answer the
following questions.

Total girls appeared in exam - 2500

S
24%

1

S
18%

2

S
12%

3
S

16%
4

S
12%

5

S
18%

6

41. Find average number of girls appeared in shift S1, S2 and
S5 of the exam
(a) 625 (b) 450 (c) 400 (d) 600
(e) 720

42. Find the central angle for girls appeared in shift S2 of the
examination
(a) 64.2° (b) 58° (c) 64.8° (d) 43.6°
(e) 52.8°

43. Find total number of girls appeared in shift S5 and  S6
together of the examination
(a) 720 (b) 675 (c) 724 (d) 945
(e) 750

44. Girls appeared in shift S3 and S4 together of the examination
are what percent more or less than students appeared in
shift S1 of the examination?

(a) 45% (b) 16.67% (c) 70% (d) 50%
(e) None of these

45. Find ratio of girls appeared in shift S4 and S6 together of
the examination to girls appeared in shift S2 and S3 together
of the examination.
(a) 3 : 4 (b) 1 : 2 (c) 4 : 3 (d) 1 : 1
(e) None of these

46. Girls appeared in shift S1 and S6 together of the examination
are how much more or less than girls appeared in shft S3
and S4 together of the examination?
(a) 350 (b) 150 (c) 270 (d) 280
(e) 250

47. A vessel contains mixture of milk and water in the ratio of
5 : 1 respectively. 30 litres mixture is removed from the
vessel and if the quantity of remaining milk in the vessel is
55 liters, then find quantity of water in the vessel initially.
(a) 16 litres (b) 15 litres
(c) 12 litres (d) 9 litres
(e) 3 litres

48. Rohan and Vimal together can complete a piece of work in
9 days. Time taken by Rohan alone to complete the same
work is 7.5 days less than time taken by Vimal alone to
complete the same work. In how many days Vimal alone

will complete 
8
9

 of the work?

(a) 8 days (b) 10 days (c) 7 days (d) 20 days
(e) 15 days

49. Ratio of ages of Husband and Wife, 5 years later is 7 : 8
respectively. If average of present ages of Husband and

Wife is 147
2

 years, then find difference in present ages of

Husband and Wife.
(a) 5 years (b) 7 years (c) 3 years (d) 9 years
(e) 4 years

50. There are 60% boys out of total students (boys + girls) in
a school and 42% of the total students of the school went
on a picnic. If 35% of the total boys went to picnic, then
find what percent of total girls went on picnic?

(a)
152 %
2

(b) 90% (c) 75% (d)
175 %
2

(e) None of these
51. Number of passed students in an exam in section A and B

are 225 and 280 respectively. If in section A 25% of the
total students got failed and in section B 30% of the total
students got failed, then find the ratio of total number of
students in Section A to Section B.
(a) 2 : 5 (b) 2 : 1 (c) 4 : 3 (d) 1 : 2
(e) 3 : 4
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DIRECTIONS (Qs. 52-56) : In the given questions, two equations
(I) and (II) are given. You have to solve both the equations and
mark the answer accordingly. Answer the questions -

(a) p < q (b) p > q (c) £p q (d) ³p q
(e) p = q or no relation

52. I. 2 9 20 0+ + =p p II. 28 15 7 0- + =q q

53. I. 2 11 30 0- + =p p II. 2 12 36 0+ + =q q

54. I. 2 13 40 0+ + =p p II. 2 7 10 0+ + =q q

55. I. 2 20 91 0- + =p p II. 2 16 63 0+ + =q q

56. I. 2 12 0- - =p p II. 2 5 6 0+ + =q q

DIRECTIONS (Qs. 57-62) : Study the table given below and
answer the following questions :
Table gives information about total number of workers in 3
different Firms  in 2017 and 2018 and also gives information
about total number of Females in these 3 Firms in 2017 and 2018.

Total 
Workers

Total 
Females

Total 
Workers

Total 
Females

A 360 180 450 225
B 180 90 300 90
C 225 135 200 60

Year
2017 2018Firms

Total workers in any firm in any year = Total (Males + Females)
in that Firm in that year.
57. If average number of workers in Firm A in 2017,  2018 and 2019

are 350, then find total number of workers in Firm A in 2019
(a) 270 (b) 280 (c) 310 (d) 240
(e) 260

58. Number of females in firm - A and B together in 2018 are
what percent more or less than total number of workers in
firm - B and C together in 2018?
(a) 27% (b) 42% (c) 37% (d) 30%
(e) None of these

59. Find total numbe rof males in Firm - A, B and C together in
2017
(a) 425 (b) 640 (c) 340 (d) 385
(e) 360

60. Average number of workers in Firm - A, B and C in 2017 are
what percent of total workers in Firm - B in 2018?
(a) 95% (b) 85% (c) 75% (d) 55%
(e) None of these

61. Find ratio of number of Males in Firm - B in 2018 to number
of Males in Firm - C in 2018
(a) 5 : 4 (b) 4 : 5 (c) 2 : 3 (d) 3 : 2
(e) 2 : 5

62. Total number of Females in Firm - A, B and C together in
2017 are how much more or less than total number of
Females in Firm - A, B and C together in 2018?
(a) 75 (b) 30 (c) 180 (d) 45
(e) 50

DIRECTIONS (Qs. 63-67) : In the following questions, calculate
quantity I and quantity II, compare them and answer according
to the following options.
(a) If Quantity I > Quantity II
(b) If Quantity I < Quantity II
(c) If Quantity I ³  Quantity II
(d) If Quantity I £  Quantity II
(e) If Quantity I = Quantity II or no relation can be established
63. Quantity I : Profit earned on selling an article at Rs. 350 at

25% profit.
Quantity II : Cost price of the article which is sold at Rs. 95
on 25% profit.

64. In a village there are 50% males and rest are females. 40%
of total male are illiterate and 20% of total female are
illiterate. Number of illiterate males is 1379.
Quantity I : Literate females in the village.
Quantity II : 2758.

65. A man invested Rs. P at 13% p.a. on simple interest for
three years.
Quantity I : If at the end of 3rd year he gets Rs. 1560 as
interest, then find Rs. P.
Quantity II : Rs. 4050.

66. Ploughing cost of a rectangular field is Rs. 117 at the rate
of Rs. 2.6 per square meter. Length of the field is 4 meters
more than the width of field.
Quantity I : Length of rectangular field.
Quantity II : 9 meters.

67. Quantity I : Sum of present ages of Sohit and Lalit is 39
years and Sohit is 7 years older than Lalit. Find present
age of Lalit.
Quantity II : 12 years.

68. 'A' invested Rs. 2000 and 'B' invested Rs. 500 more than A.
After 6 months 'C' invested Rs.1500. If at the end of the
year 'C' gets profit of Rs. 350, then find the total profit.
(a) Rs. 7000 (b) Rs. 8300
(c) Rs. 5600 (d) Rs. 7350
(e) None of these

69. 220 meters long train passes a platform in 60 seconds. If
speed of train is increased by 6 m/sec, then it crosses a
pole in 11 seconds. Find the length of platform.
(a) 720 m (b) 710 m (c) 700 m (d) 620 m
(e) 900 m

70. Selling price of a Shirt becomes Rs. 1080 after giving two
successive discounts of x% and 20% and marked price of Shirt
is Rs. 1800. Find the cost price of Shirt if there is a profit of x%
on selling the Shirt after giving two successive discounts.
(a) Rs. 1720 (b) Rs. 750 (c) Rs. 800 (d) Rs. 864
(e) Rs. 924

71. There are 5 Black Pens, 7 Red Pens and 3 Yellow Pens in a
bag. If 2 Pens are chosen randomly from the bag, then find
the probability that at least one Pen is Black Pen.

(a)
1
7 (b)

2
7 (c)

3
7 (d)

3
5

(e)
4
7
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72. Speed of boat in still water is five times of speed of stream.
If boat covers 200 km in upstream in 5 hours, then find the
downstream speed of boat?
(a) 60 km/hr. (b) 36 km/hr.
(c) 30 km/hr. (d) 64 km/hr.
(e) 48 km/hr.

73. Length of rectangle 'R' is 140% of its breadth and area of
rectangle 'R' is 1715 cm2. If width of rectangle 'R' is half of
the side of a square, then find perimeter of square
(a) 72 m (b) 56 m (c) 84 m (d) 76 m
(e) 60 m

74. The average weight of a class of 35 girls is 43 kg. It was
later found that weight of two girls was read as 39 kg and
47 kg instead of 35 kg and 42 kg. Find the actual average
weight of the class
(a) 54 kg (b) 41 kg (c) 50.6 kg (d) 42.74 kg
(e) 51.5 kg

DIRECTIONS (Qs. 75-80) : Find the value of (?) in the
following number series.

75. 2.5, 2.5, 7.5, 37.5, 262.5, ?
(a) 2105.5 (b) 2263.5
(c) 2300.5 (d) 2472.5
(e) 2362.5

76. 60, 68, 55, 73, 50, ?
(a) 50 (b) 78 (c) 68 (d) 75
(e) None of these

77. 176, ?, 56, 36, 26, 21
(a) 92 (b) 87 (c) 78 (d) 96
(e) 97

78. 140, 142, 147, 157, 174, ?
(a) 215 (b) 245 (c) 185 (d) 200
(e) 206

79. 2.5, 1.5, 1, 0, –4, ?
(a) –7.5 (b) 7.5 (c) –25 (d) –15
(e) 25

80. 12600, ?, 1050, 210, 35, 5
(a) 1200 (b) 4200 (c) 2100 (d) 2600
(e) 1800

1. (c) 4 3 2 5 8 7 1

2 4 0 6 6 8 2

Sol. (2-6):

Floors Flat M Flat N
4 F B
3 A G
2 H D
1 E C

2. (e) 3. (d) 4. (b) 5. (d) 6. (b)

Sol. (7-11):

Plan to go gym rt kr tz dg

gym today easy cq rt ly

Plan your gym today go rt cq tz

make your plan today go cq tz mp

7. (d) 8. (c) 9. (c) 10. (a) 11. (d)

12. (c) C  O  N  T  E  N  T

Sol. (13-15):

Q

M N

R

SP 34 m

51 m

34 m

51 m

17 m

51 mT

13. (a) Distance between N and T = 51 – 34 = 17 m
14. (e) Point P is in south-west direction.
15. (b)
Sol. (16-20):

N O Q P M R S

25 55 35 45 30 40 50
16. (e) 17. (a) 18. (a) 19. (d)
20. (e) Ages of all are odd, except ‘R’

21. (d) Days Persons
Monday B
Tuesday F
Wednesday E
Thursday D
Friday A
Saturday C
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Sol. (22-26):

Boxes
R
S
M
P
L
K
X
T
Q
V

22. (d) There is no box between (M-S)
23. (b) 24. (d)
25. (e) L box is placed just below S.
26. (c)
Sol. (27-31):

T R S B C DZ

27. (e) 28. (b) 29. (c) 30. (b)
31. (c) Fifteen persons sit to the right of S.

32. (a) I. H M£  (True) II. V H³  (False)
33. (d) I. L > H (False) II. B < N (False)
34. (b) I. P > G (False) II. S > O (True)
35. (e) I. T < K (True) II. T < Q (True)
Sol. (36-40):

D
M

H

A

PL

N

J

B

36. (b) 37. (e) 38. (d)
39. (e) Three, M, D and B.
40. (d) H-D is in opposite direction.
41. (b) Required average

1 24 18 12 12500 (25 54) 450.
3 100 3

+ +æ ö= ´ ´ = ´ =ç ÷
è ø

42. (c) Required angle 
18 360 64.8 .
100

= ´ = °

43. (e) Required number of girls

(12 18)2500 25 30 750.
100
+

= ´ = ´ =

44. (b) Girls appeared in shift S3 and  S4 together of the
examination = 12 + 16 = 28%
Girls appeared in shift S1 of the examination = 24%

Required percentage 28 24 100 16.67%
24
-

= ´ =  more

45. (e) Girls appeared in shift S4 and  S6 together of the
examination = 16 + 18 = 34%
Girls appeared in shift S2 and S3 together of the examination
= 18 + 12 = 30%

Required ratio 
34 17 :15.
30

= =

46. (a) Girls appeared in shift S1 and  S6 together of the
examination = 24 + 18 = 42%
Girls appeared in shift S3 and S4 together of the examination
= 12 + 16 = 28%
Required difference = (42 – 28)% of 2500

       = 14% of 2500 = 350.
47. (a) Let quantity of milk and water in the vessel initially

be 5x litres and x litres respectively.
According to the question,

55 30 55
6

æ ö- ´ =ç ÷
è ø

xx
x  5 25 55 16.x xÞ - = Þ =

48. (d) Let time taken by Vimal alone to complet the work be
y days.
So, time taken by Rohan alone to complete the same work
= (y – 7.5) days.
According to the question,

1 1 1
7.5 9

+ =
-y y    9( 7.5) ( 7.5)Þ + - = -y y y y

218 67.5 7.5Þ - = -y y y

2 4525.5 67.5 0 3,
2

y y yÞ - + = Þ =

y cannot be 3 as the time taken by Rohan alone cannot be
negative.

\ Required time 

81 8 459 20 days
1 9 2

45 / 2

´
= = ´ =

49. (b) Let ages of Husband and Wife, 5 years later be 7x
years and 8x years respectively.
According to the question,

1(7 5) (8 5) 47 2
2

- + - = ´x x

15 95 10 7 yearsÞ = + Þ =x x
Required difference = 8x – 7x = 7 years

50. (a) Let total students in the school be 100x.
So, number of students went on the picnic = 42x
And, number of boys went on the picnic

3560 21 .
100

= ´ =x x

So, number of girls went on the picnic = 42x – 21x = 21x.

Required percentage 
21 1100 52 %
40 2

= ´ =
x
x
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51. (e) Total number of students in section A

100225 300.
75

æ ö= ´ =ç ÷
è ø

Total number of students in section B 
100280 400.
70

æ ö= ´ =ç ÷
è ø

Required ratio = 300 : 400 = 3 : 4.

52. (a) I. 2 9 20 0+ + =p p
2 5 4 20 0Þ + + + =p p p  ( 5) 4( 5) 0Þ + + + =p p p

( 5)( 4) 0Þ + + =p p            4, 5\ = - -p

II. 28 15 7 0- + =q q
28 8 7 7 0Þ - - + =q q q    8 ( 1) 7( 1) 0Þ - - - =q q q

( 1)(8 7) 0Þ - - =q q          
71,
8

\ =q

So, p < q.

53. (b) I. 2 11 30 0- + =p p
2 6 5 30 0Þ - - + =p x x    ( 6) 5( 6) 0Þ - - - =p p p

( 6)( 5) 0Þ - - =p p          5, 6\ =p

II. 2 12 36 0+ + =q q
2 6 6 36 0Þ + + + =q q q    ( 6) 6( 6) 0Þ + + + =q q q

( 6)( 6) 0Þ + + =q q           6Þ = -q
So, p > q.

54. (c) I. 2 13 40 0+ + =p p
2 8 5 40 0p p pÞ + + + =   ( 8) 5( 8) 0Þ + + + =p p p

( 8)( 5) 0Þ + + =p p          8, 5\ = - -p

II. 2 7 10 0+ + =q q
2 5 2 10 0q q qÞ + + + =     ( 5) 2( 5) 0Þ + + + =q q q

( 5)( 2) 0Þ + + =q q           2, 5Þ = - -q

So, £p y

55. (b) I. 2 20 91 0- + =p p
2 13 7 91 0Þ - - + =p p p  ( 13) 7( 13) 0Þ - - - =p p p

( 13)( 7) 0Þ - - =p p        7, 13\ =p

II. 2 16 63 0+ + =q q
2 9 7 63 0Þ + + + =q q q ( 9) 7( 9) 0Þ + + + =q q q

( 9)( 7) 0Þ + + =q q 7, 9\ = - -q
So, p > q.

56. (e) I. 2 12 0- - =p p
2 4 3 12 0Þ - + - =p p p          ( 4) 3( 4) 0Þ - + - =p p p

( 4)( 3) 0Þ - + =p p 4, 3\ = -p

II. 2 5 6 0+ + =q q

2 3 2 6 0Þ + + + =q q q ( 3) 2( 3) 0Þ + + + =q q q

( 3)( 2) 0Þ + + =q q 2, 3Þ = - -q
So, no relation.

57. (d) Required number of Workers
= (350 × 3) – (360 + 450) = 240.

58. (c) Number of females in Firm - A and B together in 2018
= 225 + 90 = 315.
Total number of workers in Firm - B and C together in 2018
= 300 + 200 = 500
Required percentage

500 315 185100 37%.
500 5
-

= ´ = =

59. (e) Required number of males
= (360 – 180) + (180 – 90) + (225 – 135)
= 180 + 90 + 90 = 360.

60. (b) Average number of workers in Firm - A, B and C in 2017

360 180 225 765 255
3 3

+ +
= = =

Required percentage 
255 100 85%.
300

= ´ =

61. (d) Required ratio 
300 90 210 3 : 2.
200 60 140

-
= = =

-
62. (b) Total number of Females in Firm - A, B and C together

in 2017 = 180 + 90 + 135 = 405.
Total number of Females in Firm - A, B and C together in
2018 = 225 + 90 + 60 = 375
Required difference = 405 – 375 = 30.

63. (b) Quantity I :

Required profit 
25350 Rs. 70.

125
= ´ =

Quantity II :

Required cost price 
10095 Rs. 76.
125

= ´ =

So, Quantity I < Quantity II.
64. (e) Quantity I :

Requied female

100 50 100 201379 2758.
40 50 100

-= ´ ´ ´ =

Quantity II : 2758
So, Quantity I = Quantity II

65. (b) Quantity I :
According to the question,

13 3 1560 4,000
100

P P´ ´ = Þ =`
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Quantity II : ̀  4050.
So, Quantity I < Quantity II.

66. (e) Let breadth of the field be b m.
So, length of the field = (b + 4) m

Area of a rectangular field 2117
45 m

2.6
= =

According to the question,
b (b + 4) = 45

2 4 45 0b bÞ + - = 2 9 5 45 0b b bÞ + - - =
( 9) 5( 9) 0b b bÞ + - + = ( 9)( 5) 0b bÞ + - =

5, 9b\ = -
Quantity I :
Length of rectangular field = 5 + 4 = 9 m
Quantity II : 9 m
So, Quantity I = Quantity II

67. (a) Quantity I :
Let present age of Lalit be x years
So, present age of Sohit = (x + 7) years
x + 7 + x = 39

2 39 7 16 yearsx xÞ = - Þ =
Quantity II : 12 years
So, Quantity I > Quantity II.

68. (e) Profit sharing ratio of A, B & C
= (2000 × 12) : (2000 + 500) × 12 : (1500 × 6)
= 24,000 : 30,000 : 9,000 = 8 : 10 : 3
Let total profit be ̀  P.
According to the question,

3
350 2450

(8 10 3)
P P´ = Þ =

+ +
`

69. (d) Let speed of train be S m/sec.
And let length of platform be l meters.
According to the question,

220
60

l S+ = ...(1)

And,

220 6 14
11

S S= + Þ = ...(2)

Put value of Eq. 2 in Eq. 1,

220 14 840 220 620 m
60

l l+ = Þ = - =

70. (d) According to the question,

80 (100 )1080 1800
100 100

x-= ´ ´

91080 18 (100 )
5

xÞ = ´ ´ -

75 100 25.x xÞ = - Þ =

So, required amount 
100 41080 1080 864
125 5

= ´ = ´ = `

71. (e) Possible cases = 1 Black Pen or 2 Black Pens
Required probability

5 10 5
1 1 2
15 15

2 2

C C C
C C
´

= +

15 15
2 2

5 10 10 50 10 60 4
105 105 105 7C C

´
= + = + = =

72. (a) Let speed of stream be y Km/hr.
So, speed of boat in still water = 5y Km/hr.
According to the question,
200

(5 ) 4 40 10 Km/hr.
5

y y y y= - Þ = Þ =

So, required downstream speed of boat
= (5y + y) = 6y = 60 Km/hr.

73. (b) Let width of rectangle R be 5x meters.

So, length of rectangle R 
1405 7 meters
100

x x= ´ =

According to the question,
5x × 7x = 1715

2 235 1715 49 7x x xÞ = Þ = Þ =
Hence, side of square = 2 × 7 = 14 m
Required perimeter = 4 × 14 = 56 m.

74. (d) Required average 
[(39 47) (35 42)]

43
35

+ - +
= -

9
43 43 0.26 42.74 Kg.

35
= - = - ;

75. (e) Pattern of series -
2.5 × 1 = 2.5     ; 2.5 × 3 = 7.5
7.5 × 5 = 37.5   ; 37.5 × 7 = 262.5
262.5 × 9 = 2362.5

76. (b) Pattern of series -
60 + 8 = 68      ; 68 – 13 = 55
55 + 18 = 73    ; 73 – 23 = 50
50 + 28 = 78.

77. (d) Pattern of series -
176 – 80 = 96
96 – 40 = 56
56 – 20 = 36
36 – 10 = 26
26 – 5 = 21

78. (d) Pattern of series -
140 142 147 157 174 200

+2 +5

+3

+10

+5

+17

+7

+26

+9
79. (c) Pattern of series -

2.5 × 1 – 1 = 1.5
1.5 × 2 – 2 = 1
1 × 3 – 3 = 0
0 × 4 – 4 = –4
–4 × 5 – 5 = –25

80. (b) Pattern of series -
? = 12600 ÷ 3 = 4200
4200 ÷ 4 = 1050
1050 ÷ 5 = 210
210 ÷ 6 = 35
35 ÷ 7 = 5
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REASONING ABILITY

DIRECTIONS (Qs. 1-5) : Study the following information
carefully and answer the questions given below :
There are eight persons P, Q, R, S, T, U, V and W are sitting around
a circular table. All are facing towards the center of the table.
All of them has different age viz. 17 yrs, 19 yrs, 23 yrs, 27 yrs, 29 yrs,
32 yrs and 39 yrs but not necessarily in the same order.
V sits third to left of Q who is 23 yrs old. Three persons sit
between V and R who is 17 yrs old. Two persons, sit betwen R
and W. The one who is 39 yrs old sits immediate left of W. Two
persons sit between the one who is 39 yrs old and the U who is
19 yrs old. P faces T but none of them is 39 yrs old. S does not sit
adjacent to T. The one who is 32 yrs old sits third to right of one
who is 27 yrs old. The one who is 30 yrs old sits immediate left of
one who is 32 yrs old.
1. Who among following is 39 yrs old?

(a) T (b) P (c) W (d) V
(e) None of these

2. What is the age of P?
(a) 27 yrs (b) 29 yrs (c) 30 yrs (d) 32 yrs
(e) 39 yrs

3. Who among the following sits second to the right of Q?
(a) W (b) T (c) R (d) S
(e) U

4. Four of the following five are alike in a certain way and
hence they form a group. Which one of the following does
not belong to that group?
(a) U (b) W (c) S (d) Q
(e) R

5. Who among following sits third to left of P?
(a) R (b) Q (c) W (d) S
(e) V

DIRECTIONS (Qs. 6-10) : Study the following information
carefully and answer the questions given below :
Eight persons i.e. P, Q, R, S, T, U, V and W are born in different
years i.e. 1990, 1991, 1992, 1993, 1994, 1995, 1996 and 1997. Each
of them likes different Foods i.e. Dhokla, Samosa, Jalebi, Biryani,
Laddu, Peda, Petha and Burfi. All information is not necessarily
in the same order. Three persons born between R and the one
who likes Laddu, both persons born in even year. Q born in 1996
and likes Jalebi. The person who likes Biryani born just before
the one who likes Peda. R does not like Peda. Only two persons
born between T and the one who likes Petha. Equal number of
persons born before the one who likes Burfi and after the one
who likes Jalebi. T born in even year and before the person who
likes Petha. U born before S and after W but not just before and

after. T does not born in 1994. P born in even year and does not
like Dhokla. Two persons born between P and the one who likes
Samosa. S does not like Samosa.
6. How many persons were born in between T and V?

(a) Five (b) Two (c) Four (d) Three
(e) None

7. Who among the following person was born in 1990?
(a) S (b) U (c) W (d) R
(e) None of these

8. P born in which of the following year?
(a) 1991 (b) 1993 (c) 1996 (d) 1994
(e) None of these

9. Which of the following combination is true?
(a) S - Peda (b) V - Dhokla
(c) P - Burfi (d) W - Peda
(e) Q - Jalebi

10. Who among the following person like Peda?
(a) P (b) S (c) T (d) U
(e) None of these

DIRECTIONS (Qs. 11-15) : Study the following information
carefully and answer the questions given below :
Eight persons A, B, C, D, E, F, G and H are seated in a linear  line
facing north, but not necessarily in the same order.
E sits third to the left of F who sits at one of the extreme ends of the
row. Neither E nor F is an immediate neighbour of C. H and C are
immediate neighbours. Neither H nor C sits extreme end of the row.
B sits third to the right of C. D does not sit at any extreme end of the
row. Neither D nor H is neighbour of E. A is third to the left of D.
11. Based on the given arrangement, which of the following is

true with respect to E?
(a) Only two persons sit between E and D
(b) Only two persons sit to the right of E
(c) None of the given options is true
(d) Both A and B are immediate neighbours of E
(e) A sits on the immediate right of E

12. What is the position of A with respect to B?
(a) Immediate left (b) Immediate right
(c) Second to the left (d) Second to the right
(e) None of these

13. Wlho among the following represents the person seated
at the extreme end of the line?
(a) F (b) B (c) A (d) H
(e) C

14. How many persons sit between H and D?
(a) One (b) Three (c) Five (d) None
(e) None of these

15. Who sits between E and D?
(a) H (b) C (c) No one (d) B
(e) None of these

IBPS RRB Officer Scale-I Main Solved
Paper 2020 Based on Memory
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DIRECTIONS (Qs. 16-20) : Study the following information
carefully and answer the questions given below :
There are 8 boxes which are different sizes - 2 Kg, 3 Kg, 4 Kg,
5 Kg, 6 Kg, 7 Kg, 8 Kg and 9 Kg. Each of them contains an
alphabet written on them from A to H according to which they
are placed one above the other. The box containing alphabet A
is at the lowest place. Each box has different colour balls -
Black, Yellow, Green, Orange, Blue, White, Red and Pink, but
not necessarily in the same order. Only one box is there between
3 Kg box and the one which contains Blue ball. Alphabet D is
written on the 9 Kg box. The alphabet on 7 Kg box is vowel and
is placed somewhere above the box alphabet D.
There are three boxes between 5 Kg box and the one which
contains White ball. The alphabet written on 4 Kg box is
Consonent and is placed above the box contains White balls.
The box which contains Red balls is placed immediately above 8
Kg box, which contains neither White nor Black balls. The 6 Kg
box does not contain Red balls. There are three boxes placed
between 8 Kg and 2 Kg boxes. The box which contains Pink
balls is placed immediately above the one which contains Yellow
balls, but not at the topmost position. Only one box is there
between 7 Kg box and the one which contains Red balls. The
number of boxes placed above 7 Kg box is same as the number
of boxes placed between 5 Kg and 7 Kg boxes. Only one box is
there between the one which contains Pink balls and 9 Kg box.
Two boxes are placed between 4 Kg box and the one which
contains Black balls.
16. Four of the following five are alike in a certain way and so

form a group. Which one of the following does not belong
to the group?
(a) 8 Kg box - Orange balls (b) 4 Kg box - White balls
(c) 7 Kg box - Blue balls (d) 9 Kg box - Pink balls
(e) 5 Kg box - Green balls

17. How many boxes are placed between 4 Kg box and the one
which contains Green balls?
(a) None (b) One (c) Two (d) Three
(e) More than three

18. Which of the following statements is true with respect to
the given information?
(a) 8 Kg box is placed immediately above the one which

contains Black balls
(b) 6 Kg box is placed immediately above 4 Kg box
(c) Three boxes are placed between 7 Kg box and the

one which contains Pink balls
(d) 5 Kg box contains Blue balls
(e) Alphabet G is written on 4 Kg box

19. Which box is placed exactly between 9 Kg box and the one
which contains Yellow balls?
(a) 6 Kg and 7 Kg boxes
(b) 8 Kg and 5 Kg boxes
(c) 3 Kg and 2 Kg boxes
(d) 6 Kg and 7 Kg boxes
(e) 6 Kg and 2 Kg boxes

20. Which of the following balls does 6 Kg box contains?
(a) Pink (b) Yellow (c) Green (d) Blue
(e) Red

DIRECTIONS (Qs. 21-23) : In these following questions the
symbols @, #, $, & and % are used with the following meanings :

A @ B means A is neither greater than nor equal to B
A # B meams A is not lesser than B
A $ B means A is neither greater than nor lesser than B
A & B means A is not greater than B
A % B means A is neither lesser than nor equal to B

In each of the following questions four statements followed by
three conclusions marked I, II and III are given. Assuming the
statements to be true, find which of the three conclusions
follow(s) the given statements.
21. Statements : P % K, P & R, S $ R, S & T

Conclusions :
I. P @ S II. T % P III. P $ T
(a) Only I follows (b) Only II follows
(c) Only III follows (d) Either II or III follows
(e) None follows

22. Statements : T $ F, F # G, G @ H, H & R
Conclusions :
I. T % G II. F @ H III. R % G
(a) None follows (b) Both II and III follow
(c) Both I and III follow (d) Either I or III follows
(e) All follows

23. Statements : C % D, D & E, F $ D, F & G
Conclusions :
I. C % D II. G @ D III. D % G
(a) Both I and II follow (b) Both II and III follow
(c) Both I and III follow (d) Either I or III follows
(e) All follows

24. In a certain code language,
Rahul speaks louder is coded as - '6ca 7ka 8ud'
Drama speaks truth is coded as - '4vm 8ud 5ht'
Rahul played Drama is coded as - '2ck 6ca 4vm'
Truth louder go is coded as - '3pm 5ht 7ka'
How is go coded in the given language
(a) 4vm (b) 2ck (c) 3pm (d) 7ka
(e) 8ud

25. Mohan walks 9 m towards south from his office to reach
chowk. Then take left and walks 16 m to reach Mandir.
Then he turns 90 degree anti-clockwise direction and walks
9 m to reach Market. From the Market he takes left and
walks 9 m to reach home.
Chowk is in which direction with respect to Mohan's Home?
(a) South (b) South west  (c)  North  (d)  South east
(e) East

DIRECTIONS (Qs. 26-27) : Read the following information
carefully and answer the questions given below :
If 'A × B' means 'A is father of B'.
If 'A + B' means 'A is wife of B'.
If 'A ÷ B' means 'A is daughter of B'.
If 'A – B' means 'A is son of B'.
26. What will come in the place of the question mark, to

establish that M is the nephew of Q in the expression :
'M ? N ÷ P × Q'
(a) + (b) – (c) × (d) ÷
(e) Can't be determined
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27. Which of the following relations are true based upon the
relations given in the equation :
'P – Q × R + S – T'?
(a) P is the brother of T (b) R and S are brothers
(c) Q is the husband of S (d) Q is the uncle of R
(e) None of these

28. Pointing to a girl in the picture, Nitin said, "Her mother's
brother is the only son of my mother's father". How is the
girl's mother related to Nitin?
(a) Mother (b) Grand mother
(c) Aunt (d) Sister
(e) None of these

DIRECTIONS (Qs. 29-31) : Each of the questions below
consists of a question and three statements numbered I, II and
III given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read
the question and all three statements and given answer
accordingly.

(a) Only I and II are sufficient to answer the question
(b) Only II and III are sufficient to answer the question
(c) All I, II and III are not sufficient to answer the

question
(d) All I, II and III are sufficient to answer the question
(e) Only I and either II or III are sufficient to answer the

question
29. The conclusion of some Yellow is Red which is not

White is definitely followed by which of the following
statements?
I. Some Pink is Yellow; All Yellow is Red; No White is a

Blue; Some Black is Yellow.
II. Some Red are Blue; No Black is a Red; All Blue are

Yellow; No Blue is a White.
III. No White is a Black; Some Black is Blue; No Yellow is

a Red; All Yellow is Pink.
30. Some of the Men are standing in a line and all are facing

south direction. How many Men standing in a line?
I. V sits fourth to the extreme end of the line. One person

sits between Pand X. P is not an immediate neighbour
of V. P is not sits any extreme end of the line. Z sits
second to the right of V.

II. Four persons sit between X and Z. T sits third to the
left of Q. R is the only immediate neighbour of T. A
sits fifth to the left of W.

III. Z sits third to the right of U. P is an immediate
neighbour of W but not an immediate neighbour of X.
W sits one of the extreme end.

31. Seven families A, B, C, D, E, F and G are living in seven
different floors. Ground floor is numbered as one and the
above floor is numbered as two and so on till the topmost
floor is numbered as seven. Then F lives in which floor?
I. E lives in the odd numbered floor below A. The

numberes of floors above C is same as below D.
II. There are two floors between where B and A lives. G

does not live in the even numbered floor.
III. A lives in an even numbered floor. B lives below

third floor. F lives below C. C lives two floors below G.

DIRECTIONS (Qs. 32-33) : Based on the alphanumeric series
given below, answer the following questions :
Y %  ̂K V P 3 U 8 A 0 & 2 9 E F Z N 4 * @ O ? M
32. How many numbers in the series are preceded by a

vowel?
(a) Four (b) None (c) Two (d) One
(e) Three

33. What is the second element to the right of 7th element
from left?
(a) K (b) V (c) 3 (d) 8
(e) None of these

34. Statement : The Teacher humiliated Raman in front of his
classmates on a Monday morning.
Conclusion I : The Teacher did not like Raman.
Conclusion II : Raman was not as popular as his other
classmates.
(a) If only conclusion II follows
(b) If both conclusions I and II follow
(c) If neither conclusion I nor II follows
(d) If either conclusion I or II follows
(e) If only conclusion I follows

DIRECTIONS (Qs. 35-36) : In each question below are given
some statements followed by some conclusions. You have to
take the given statements to be true even if they seem to be at
variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows/follow from the given statements, disregarding
commonly known facts.

(a) If only conclusion II follows
(b) If both conclusions I and II follow
(c) If neither conclusion I nor II follows
(d) If either conclusion I or II follows
(e) If only conclusion I follows

35. Statements :
Some Metro are Train.
Some Trains are Rajdhani.
All Rajdhani are Tejas.
Conclusions :
I. Atleast some Tejas are Metro.
II. No Tejas is a Metro.

36. Statements :
Some Pen are Pencils.
Some Pencils are Eraser.
No Eraser is a Bag.
Conclusions :
I. All Bags being Pen is possibility.
II. Atleast some Erasers are Bags.

DIRECTIONS (Qs. 37-39) : Study the following information
carefully and answer the questions given below :
Seven girls - Anu, Priya, Radha, Deepa, Geeta, Payal and Jyoti
have different height and weight such that the tallest one is not
the heaviest one.
Deepa is taller than Anu but not heavier than Jyoti. Priya is
heavier than Geeta but not as much tall as Radha. Payal is
heavier than Priya and Geeta but shorter than Radha and
Priya. Deepa is not taller than Payal. Jyoti is not taller than
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Anu and also not heavier than Geeta. Anu is not lighter than
Radha who is heavier than Priya. Radha is shorter than only
one girl. Payal is not the second heaviest and is lighter than
Radha.
37. Who among the following is the third lightest?

(a) Anu (b) Payal (c) Jyoti (d) Geeta
(e) Radha

38. How many girl(s) are lighter than the one who is second
tallest?
(a) Four (b) One (c) Two (d) Three
(e) Five

39. Who among the following is the tallest?
(a) Jyoti (b) Geeta (c) Priya (d) Payal
(e) Anu

40. How many meaingful words can be formed using 3rd, 7th
and 9th letter of the word "PLANTATION".
(a) One (b) Two (c) Three (d) None
(e) None of these

QUANTITATIVE APTITUDE

DIRECTIONS (Qs. 41-45) : Study the following information
carefully and answer the questions given below it:
Renu wants to pursue her M.Sc. from BITS Pilani, Dubai, but to
be able to afford it, she has to take an education loan. The loan
agreement guaranteed to pay 70% of all her expenses. This way
she only had to bear the remaining costs. As soon as she landed
in the Dubai, she had to pay the rent for her new apartment. The
apartment rent was $500 per month. She then paid her tuituion
fee for the current semester worth $25000. On an average she
spent $350 on utilities and groceries per month. Given that, Renu's
course lasted a total of two years (comprising of 2 semesters per
year) and the bank gave 70% of the total expenses of two years
at the beginning of her course.
41. How much did the bank have to pay in total for two years

on behalf of Renu?
(a) $84280 (b) $87300 (c) $90000 (d) $74200
(e) None of these

42. If the bank charges simple interest at the rate of 10% per
annum, then find the total interest amount that Renu paid
after 2 years. (Assume she pays off the entire loan after 2
years of completion of course)
(a) $15200 (b) $17000 (c) $16856 (d) $16000
(e) $12345

43. Find, the annual amount spent on utilities is what percentage
less than the annual amount spent on rent?
(a) 20% (b) 25% (c) 30% (d) 12.5%
(e) 35%

44. Renu gets an internship for a period of 4 months. The
company where she'll doing internship pays $13000 per
month. The utilities and rent for these 4 months is what
percentage of the total amount she earns from the intership?
(a) 5% (b) 7.2% (c) 6.42% (d) 6%
(e) 6.53%

45. Renu decides to live with her relatives for 7 months so she
will not have to pay for rent and utilities. How much does
she save on rent and utilities?
(a) $5950 (b) $5500 (c) $6000 (d) $5250
(e) None of these

DIRECTIONS (Qs. 46-50) : Study the following graph and
answer the questions that follow:
Number of Appeared Candidates and Passed Candidate (out of
hundred) in a Exam from Seven Different colleges
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46. What is the average number of candidates passed from all
the institutions together?
(a) 576 (b) 708 (c) 670 (d) 880
(e) 690

47. What is the difference between the number of candidates
appeared from colleges Q,  R,  S and U together and
candidates passed from colleges P, T and V together?
(a) 1000 (b) 1200 (c) 1050 (d) 1100
(e) None of these

48. Number of candidates passed from colleges R and T
together is approximately, what percentage of the total
number of candidates passed from colleges P and V
together
(a) 88% (b) 76% (c) 56% (d) 94%
(e) 97%

49. From which college the difference between the appeared
candidates and passed candidates is maximum?
(a) S (b) P (c) Q (d) V
(e) None of these

50. What is the respective ratio between the number of
candidates who have failed from college Q and the number
of candidates who have appeared from college U?
(a) 3 : 2 (b) 2 : 3 (c) 5 : 7 (d) 7 : 6
(e) 2 : 5

DIRECTIONS (Qs. 51-55) : What should come in place of
question mark (?) in the following questions?
51. 711, 719, 735, 767, 831, ?

(a) 1063 (b) 1045 (c) 1105 (d) 959
(e) 1055

52. 245, 384, 567, ?, 1089, 1440
(a) 1230 (b) 735 (c) 800 (d) 885
(e) 805

53. 2755, 2629, 2479, ?, 2099, 1865
(a) 2400 (b) 2207 (c) 2197 (d) 2387
(e) 2303

54. 29, 38, –26, –1, –217, ?
(a) –168 (b) –257 (c) +168 (d) 1
(e) –278
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55. 632, 582, 534, 488, 444, ?
(a) 420 (b) 415 (c) 415 (d) 402
(e) 404

56. In Parade Ground, Dehradun an exhibition was organised,
hand-made crafts are displayed for sale. Some Boys are
assigned the work of selling crafts. The overall profit p
depends on the number of Boys × Selling the crafts on
that particular day and is given by the equation
p = 250x –  5x2. The Manager claims to have made a
maximum profit. Find the number of Boys engaged in selling
the crafts and the maximum profit made.
(a) 15, Rs. 3125 (b) 25, Rs. 2700
(c) 25, Rs. 3125 (d) 35, Rs. 3000
(e) None of these

57. Gaurav incurred a loss of 40 per cent on selling an article
for Rs. 8760. What was the cost price of the article?
(a) Rs. 12400 (b) Rs. 14000
(c) Rs. 17050 (d) Rs. 14600
(e) Rs. 15300

58. A Four wheeler costing Rs. 4,00,000 of a person depreciated
at the rate of 15% in the first year, 13% in the second year
and so on. Flat of that person, costing Rs. 8,00,000
appreciated at the rate of 10% in the first year, 12% in the
second year and so on. What was the change in total
value of four wheeler, Flat at the end of 3 years?
(a) Rs. 1,76,325 (b) Rs. 1,87,123
(c) Rs. 1,93,257 (d) Rs. 1,86,846
(e) Rs. 1,40,000

59. Sonu can do a piece of work in 24 days. Pintu can do the
same work in 30 days and Gaurav in 40 days. Sonu and
Gaurav worked for 3 days and handed it to Pintu. Pintu
worked for some day and handed it to Sonu and Gauav,
7 days before completing the work. For how many days
did Pintu work?
(a) 15 days (b) 12 days
(c) 11 days (d) 9 days
(e) 10 days

60. Saurav walk a certain distance and ride back taking a total
time of 27 minutes. Saurav could walk both ways in 35
minutes. How long would it take Saurav to ride both ways?
(a) 17 min. (b) 23 min.
(c) 19 min. (d) 18  min.
(e) 21 min.

61. A sum of Rs. 10,277 is to be paid back in 3 equal annual
installments by Ankush. How much is each installment if
the interest is compounded annually at 13% per annum?
(a) Rs. 3700 (b) Rs. 4300
(c) Rs. 4100 (d) Rs. 3850
(e) Rs. 3753

62. The difference between compound interest and simple interest
at the same rate of interest R percent per annum on an amount
of Rs. 10,000 for 2 years is Rs. 81. What is the value of R?
(a) 7% (b) 6% (c) 11% (d) 10%
(e) 9%

63. In how many different ways can the letters of word
'REGULAR' be arranged?
(a) 2520 (b) 2410 (c) 2630 (d) 2560
(e) 2480

64. When 4 coins are tossed together, then, probability of
getting exact 3 heads is?

(a)
1
3 (b)

1
2

(c)
1
7 (d)

7
23

(e)
1
4

65. While purchasing a watch that costs Rs. 300, one has to pay
sales tax at the rate of 8% and on another watch costing
Rs. 5400, the rate of sales tax was 9%. The percent of sales tax
one has to pay, taking these watches together on an average is?

(a)
78 %
23 (b)

548 %
57

(c)
37 %

37 (d)
19 %
7

(e) None of these

DIRECTIONS (Qs.  66-70) : Study the following graph carefully
to answer the given questions :

Total Number of Employees = 3000

Accounts
6%

Management
12%

Printing
8%

Marketing
16%

HR
15%

IT
14%

Opera tions
18%

Social Media
11%

Department Male : Female
Management 7 : 5
Printing 2 : 3
Marketing 5 : 3
HR 7 : 8
IT 3 : 4
Operations 5 : 4
Social Media 6 : 5
Accounts 2 : 1

Male and Female Ratio

66. What is the ratio between male employees in Management
and Accounts Departments respectively?
(a) 5 : 1 (b) 1 : 5 (c) 3 : 2 (d) 4 : 7
(e) 7 : 4



IBPS RRB Officer Scale-I Main Solved Paper 20202020-14

67. What is the difference between total number of employees
in IT and Operations Departments?
(a) 80 (b) 120 (c) 115 (d) 125
(e) 118

68. What is the ratio between total number of males in HR and
Marketing and the total number of females in these two
departments respectively?
(a) 17 : 14 (b) 14 : 17 (c) 21 : 23 (d) 23 : 21
(e) 7 : 11

69. How many female employees are there in Printing Department?
(a) 124 (b) 150 (c) 148 (d) 136
(e) None of these

70. What is the difference between the male and female
employees in Social Media Departments?
(a) 25 (b) 28 (c) 32 (d) 30
(e) 34

DIRECTIONS (Qs. 71-75) : Study the following table carefully
and answer the questions given below :
Number of Laptop, Macbook and Desktop manufactured (in
thousand) by a company over the years.

Year Laptop Macbook Desktop
2007 250 140 115
2008 200 155 120
2009 230 160 135
2010 245 175 125
2011 260 185 130
2012 275 220 120

71. Which type of object manufactured by company during
2007 to 2012 is the maximum?
(a) Macbook
(b) Desktop
(c) Laptop
(d) Macbook and Desktop both
(e) Desktop an Laptop both

72. What was the percentage increase in the production of
Laptop from 2007 to 2012?
(a) 7% (b) 9% (c) 12% (d) 11%
(e) 10%

73. Which type of object registered a continuous increase in
the production over the years?
(a) Laptop (b)  Macbook
(c) Destop (d)  Both Laptop and Macbok
(e) None of these

74. The production  of  Desktop in  the  year  2011 was  what
percent of the production of Laptop in the year 2010?
(a) 52.01% (b) 53.06% (c) 51.17% (d) 55.11%
(e) 53%

75. What was the percentage increase in the production of
Macbook from 2008 to 2010?
(a) 11.8% (b) 12% (c) 13.7% (d) 12.9%
(e) 12.8%

DIRECTIONS (Qs. 76-80) : Each of the questions below consists
of a qustion and two statements numbered I and II given below
it. You have to decide whether the data provided in the

statements are sufficient to answer the question. Read both the
statements and give answer.

(a) The data in Statement I alone is sufficient to answer
the question, while the data in Statement II alone is
not sufficient to answer the question.

(b) The data in Statement II alone is sufficient to answer
the question, while the data in Statement I alone is
not sufficient to answer the question.

(c) Either Statement I or Statement II alone is sufficient
to answer the question.

(d) The data in both the Statements I and II is not
sufficient to answer the question.

(e) The data in both the Statements I and II together is
necessary to answer the question.

76. What is the value of the two-digit number?
Statement I : The sum of the digits at unit's place and
tenth's place is 7.
Statement II : When the digits are interchanged then the
number obtained is 45 larger than the original number.

77. Can a water tank of 2300 litres capacity be filled by two
inlet pipes x and y together in less than 5 hours?
Statement I : If pipe x is opened alone then it takes 11
hours to fill the tank.
Statement II : Pipe y can fill 2.5 litres of water per minute.

78. How much time will Lokesh take to cover a distance of 126
km at a uniform speed?
Statement I : The speed of Rohit is 12 km per hour more
than that of Lokesh.
Statement II : If Rohit increases his speed by 30% then he
takes 3 hours less to cover a distance of 390 km.

79. What is the area of a right-angled triangle ABC?
Statement I : The length of sides AB and BC of the triangle
is 40 cm and 9 cm respectively.
Statement II : The inradius of the triangle ABC is 4 cm, and
the circumradius 20.5 cm.

80. What is the sum of m and n?
Statement I : 17m + 5n = 145
Statement II : n = 29 – 3.4m

COMPUTER KNOWLEDGE
81. If you are going to a site you use often, instead of having

to type in the address every time, you should _______
(a) Save it as a file (b) Make a copy of it
(c) Bookmark it (d) Delete it
(e) None of the above

82. The ___ key and the ___ key can be used in combination
with other keys to perform shortcuts and special tasks.
(a) Control, Alt (b) Function, toggle
(c) Delete, Insert (d) Caps Lock, Num Lock
(e) None of the above

83. What are bas, doc, and htm examples of?
(a) extensions (b) domains
(c) protocols (d) databases
(e) None of these

84. Which is a graphical representation of an application?
(a) Windows 95 (b) Windows Explorer
(c) Icon (d) Taskbar
(e) None of the above
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85. A program that generally has more user-friendly interface
than a DBMS is called a _______
(a) front end (b) repository
(c) back end (d) form
(e) None of these

86. _______ is the process of finding errors in software code.
(a) Compiling (b) Assembling
(c) Interpreting (d) Debugging
(e) None of these

87. A computer _______ is a set of program instructions that can
attach itself to a file, reproduce itself, and spread to other files.
(a) worm (b) virus
(c) trojan horse (d) phishing scam
(e) None of these

88. A modem _______ .
(a) translates analog signals from a computer into digital

signals that can travel along conventional telephone
lines.

(b) translates digital signals from a computer into analog
signals that can travel along conventional telephone
lines.

(c) demodulates digital signals from a computer.
(d) modulates signals from an analog telephone line.
(e) None of these

89. Which one of the following is a key function of a firewall?
(a) Monitoring (b) Deleting
(c) Copying (d) Moving
(e) None of these

90. Multiprogramming systems  _______.
(a) Are easier to develop than single programming systems.
(b) Execute each job faster .
(c) Execute more jobs in the same time period.
(d) Use only one large mainframe computer.
(e) None of these.

91. The first step in the transaction processing cycle is _______.
(a) database operations (b) audit
(c) data entry (d) use inquiry
(e) None of these

92. Bytes combined to represent a named collection of
instructions or data stored in the computer or digital device
is a _______.
(a) digitalization (b) kilobyte
(c) record (d) file
(e) None of these

93. _______ is a type of high-speed memory that a processor
can access more rapidly than RAM.
(a) Cache memory
(b) Magnetic-storage
(c) Read-Only Memory (ROM)
(d) Solid state storage
(e) None of these

94. When writing a document, you can use the _______
feature to find an appropriate word or an alternative word
if you find yourself stuck for the right word.
(a) dictionary (b) word finder
(c) encyclopedia (d) thesaurus
(e) None of these

95. When installing _______, the user must copy and usually
decompress program files from a CD -ROM or other medium
to the hard disk.

(a) programming software (b) system hardware
(c) applications hardware (d) applications software
(e) None of these

96. _______ shows the files, folders, and drives on your
computer, making it easy to navigate from one location to
another within the file hierarchy.
(a) Microsoft Internet Explorer
(b) Windows Explorer
(c) My Computer
(d) Folders Manager
(e) None of these

97. Which of the following controls the manner of interaction
between the user and the operating system?
(a) User interface (b) Language translator
(c) Platform (d) Screen saver
(e) None of these

98. A standard CD player accesses data/information using
which method?
(a) Sequential access (b) Random access
(c) Multivariate access (d) All of these
(e) None of these

99. Decreasing the amount of space required to store data
and programs is accomplished by _______.
(a) pressing (b) disk caching
(c) RAID (d) crashing
(e) file compression

100 A 32-bit-word computer can access _____ byte at a time.
(a) 4 (b) 8 (c) 16 (d) 32
(e) 30

101. ________is the maximum amount of data that can be stored
on a storage medium.
(a) Magnetic storage (b) Optical storage
(c) Solid-state storage (d) Storage capacity
(e) None of these

102. A computer used at supermarkets, departmental stores and
restaurant etc. is called _______ terminal
(a) P-O-S (b) Dumb
(c) Intelligent (d) Smart
(e) calculating

103. What happens when we try to delete the files on the  floppy?
(a) The files get moved to the Recycle Bin
(b) Files on a floppy cannot be deleted
(c) The files get deleted and can be restored again from

Recycle Bin.
(d) The files get deleted and cannot be restored again
(e) The file gets copied on the Hard disk

104. The secret code that restricts entry to some programs is
(a) password (b) passport
(c) entry-code (d) access-code
(e) None of these

105. To be able to “boot”, the computer must have a(n)
(a) Compiler (b) Loader
(c) Operating System (d) Assembler
(e) None of these

106. The DBMS that is most difficult to use is ________ .
(a) Microsoft’s SQL Server
(b) Microsoft’s Access
(c) IBM’s DB2
(d) Oracle Corporation’s Oracle
(e) None of these
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107. Which among the following is an appropriate binary
conversion for the number 421 (which is of base 10)?
(a) 11010100 (b) 10101010
(c) 10011001 (d) 010101010
(e) 110100101

108. BSODs can be caused by poorly written device drivers or
mal-functioning hardware, such as faulty memory, power
supply issues, overheating of components, or hardware
running beyond its specification limits. Which color screen
is displayed when encountered a BSOD Error?
(a) Blue (b) Red (c) Grey (d) Black
(e) Green

109. A _____ uses pressure as a user presses it with a stylus to
send signals.
(a) touchpad (b) Track Point
(c) graphics tablet (d) trackpad
(e) keyboard

110. The __________ enables you to simultaneously keep
multiple Web pages open in one browser window.
(a) tab row (b) pop-up helper
(c) address bar (d) Esc key
(e) None of these

111. Which is the slowest internet connection service?
(a) Digital Subscriber Line (b) TI
(c) Cable modem (d) Leased Line
(e) Dial-up Service

112. A _______ shares hardware, software and data among
authorized users.
(a) network (b) protocol
(c) hyperlink (d) transmitter
(e) None of these

113. With _________, the computer’s modem uses a standard
telephone line to connect to the Internet.
(a) DSL
(b) dial-up access
(c) ISDN
(d) cable television Internet services
(e) satellite

114. Which of the following is not true concerning user IDs
and passwords?
(a) When  you  enter  your  user  ID  and  password  the

computer knows it is you.
(b) If your computer asks for a user ID and password,

you can create your own.
(c) Sometimes you are assigned a user ID and password,

for security reasons.
(d) You should share your user ID and password with at

least one other person.
(e) None of these.

115. Unsolicited commercial email is commonly known as
(a) spam (b) junk
(c) hoaxes (d) hypertext
(e) None of these

116. ______ search engine sends request for information to several
search engines simultaneously and compiles the results
(a) Meta (b) Individual
(c) Directory (d) Subject directory
(e) None of these

117. Which key is used in combination with another key to
perform a specific task?
(a) Function (b) Control
(c) Arrow (d) Space bar
(e) None of these

118. The connection between your computer at home and your
local ISP is called __________.
(a) the last mile (b) the home stretch
(c) the home page (d) the backbone
(e) the vital mile

119. Which of the following device is used to connect two
systems, especially if the systems use different protocols?
(a) hub (b) bridge
(c) gateway (d) repeater
(e) None of these

120. Which of the following terms is just the collection of
networkd that can be joined together?
(a) virtual private network (b) LAN
(c) intranet (d) extranet
(e) intranet

GENERAL AWARENESS
121. What is the theme of the G20 Leaders’ Summit 2020?

(a) Fighting poverty with rigidity
(b) Realizing Opportunities of the 21st Century For All’.
(c) “Human-Centred Future Society”
(d) Making the world together
(e) None of these

122. Every year International Mountain Day is celebrated on
December 11 by United Nations. What is the theme of this
event in 2020?
(a) Mountain Biodiversity (b) Green Mountain
(c) Save Mountain (d) Clean Mountain
(e) All of the above

123. Who authored the book “A Song of India”?
(a) Ruskin Bond (b) Shashi Tharoor
(c) Chetan Bhagat (d) Khuswant Singh
(e) None of these

124. What was the Theme of the Budget 2020-21?
(a) Aspirational India
(b) Economic development for all
(c) Caring society
(d) Both (b) and (c)
(e) All of these

125. Who was the 2019 ICC ODI World Cup winning team
Captain?
(a) Michael Clarke (b) Steve Waugh
(c) Eoin Morgan (d) Ricky Ponting
(e) Kane Williamson

126. What is the limit of Mudra Scheme Tarun?
(a) up to ` 50,thousand (b) up to ` 1 Lakh
(c) up to ` 5 Lakh (d) up to10 lakhs
(e) None of these

127. When World Population Day is celebrated?
(a) 20 June (b) 23 May
(c) 11 August (d) 25 October
(e) 11 July
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128. Allahabad Bank has been merged with which of the
following Banks?
(a) Punjab National Bank (b) State Bank of India
(c) Union Bank of India (d) Indian Bank
(e) None of these

129. India’s first small finance bank has been opened in which city?
(a) Jalandhar (b) Ahmadabad
(c) Bengluru (d) Kolkata
(e) New Delhi

130. Recently, the Digital Quality of Life (DQL) Index 2020 has
been released. Which country is on the top of the list?
(a) USA (b) China
(c) Norway (d) Denmark
(e) Japan

131. Who authored the book “How to be a writer”?
(a) Ruskin Bond (b) Arundhati Roy
(c) Vishal Bhardwaj (d) Chetan Bhagat
(e) None of these

132. The value of Special Drawing Right (SDR) is determined
by the basket of ...... currencies.
(a) 4 (b) 8 (c) 6 (d) 7
(e) 5

133. Which of the following currency has largest weightage in
the determination of the value of the SDR?
(a) Japanese Yen (b) Euro
(c) US Dollar (d) British Pound
(e) None of these

134. What is the minimum limits for RTGs?
(a) 1 lakh (b) 2 lakh
(c) 5 lakh (d) 6 lakh
(e) No limits

135. Which of the following is NOT a correct statement with
respect to Freedom of speech and expression in India?
(a) It is enshrined in Part III of the Constitution
(b) It is not an absolute right to express one's thoughts

freely
(c) It cannot be curtailed by legislation
(d) It can be suspended in emergency
(e) All of the above

136. In which part of the Indian Constitution, special provisions
have been made for National Scheduled Castes and
Scheduled Tribes, Other Backward Classes and Anglo
Indians?
(a) Part XVI (b) Part XI
(c) Part XXI (d) Part XIII
(e) None of these

137. Where are the UNICEF Headquarters located?
(a) New York, United States (b) Paris, France
(c) Rome, Italy (d) Davos, Switzerland
(e) London, England

138. When the National Technology Day is celebrated every
year?
(a) 1st January (b) 11th June
(c) 23rd July (d) 3rd September
(e) 11th May

139. When did the Mahatma Gandhi National Rural Employment
Guarantee Act (MGNREGA) come into force?

(a) September 7, 2005 (b) November 10, 2005
(c) February 2, 2006 (d) March 3, 2006
(e) None of these

140. What is the Capital of Indonesia?
(a) Bali (b) Jambi
(c) Papua (d) Kuala Lumpur
(e) Jakarta

141. Who has been named as the ICC Cricketer of the year
2020?
(a) Joe Root (b) Ben Stokes
(c) Steve Smith (d) Kumar Sangakkara
(e) Virat Kohli

142. Who recommends the Minimum Support Prices (MSP)?
(a) Union Ministry of Finance
(b) NITI Aayog
(c) Respective State Governments
(d) Commission for Agricultural Costs and Prices
(e) None of these

143. What does the term IPO stand for?
(a) Initial Purchase Order (b) Initial Payment Order
(c) Initial Public Offering (d) Initial Product Offering
(e) None of these

144. Which of the given facilities enable transfer of funds in
real time?
(a) NEFT (b) Demand Draft
(c) RTGS (d) Cheque
(e) Money Order

145. In which year the Sukanya Samriddhi Yojana was launched?
(a) 2014 (b) 2015 (c) 2016 (d) 2017
(e) 2019

146. Which of the following is the principle business carried
out by NBFC?
(a) Hire purchasing finance(b) Housing finance
(c) Investment and loan (d) All of the above
(e) None of these

147. In India, which of the following organizations take care of
the agriculture and rural development credits needs?
(a) IDBI (b) ADBI
(c) ICAR (d) FCI
(e) NABARD

148. Priority Sector includes which of the following categories?
(a) Agriculture
(b) Micro, Small and Medium Enterprises (MSME)
(c) Export Credit
(d) Education
(e) All of the above

149. Eastern DFC runs from Ludhiana to ...........
(a) Ahmadabad (b) Delhi
(c) Kolkata (d) Assam
(e) None of these

150. The loan limit for education under priority sector is.......
(a) ` 1 million (b) ` 2 million
(c) ` 3 million (d) ` 4 million
(e) ` 5 million

151. Which of the following is Not a category under ‘Agriculture’?
(a) Farm credit
(b) Agriculture infrastructure
(c) Land Lease
(d) Ancillary activities
(e) None of these
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152. Which of the following are the Key Features of the Delhi
School Bag Policy?
(a) The weight of the school bag should not be more

than 10% of the body weight.
(b) The students should be practiced with the habit of

reading library books.
(c) No homework should be issued to students of class

1 and class two students
(d) Only single notebook should be carried by class 1

and class 2 students
(e) All of these

153. What year was the Statue of Liberty dedicated?
(a) 1945 (b) 1952
(c) 1976 (d) 1982
(e) 1986

154. CVC has constituted an ‘Advisory Board for Banking
Frauds (ABBF)’ to examine bank fraud of and recommend
action under chairmanship of _________?
(a) Bimal Jalan
(b) T M Bhasin
(c) D Subarrao
(d) R Gandhi
(e) None of these

155. World’s first cellular system was developed by..........?
(a) Nippon Telephone and Telegraph (NTT)
(b) Bellcore and Motorola
(c) AT&T Bell Laboratories
(d) Qualcomm
(e) None of these

156. Who releases National Strategy for Financial Education?
(a) Reserve Bank of India
(b) HRD Ministry
(c) Finance Ministry
(d) University Grants Commission (UGC)
(e) None of these

157. Which sport’s competition is awarded the “Stanley Cup”?
(a) Tennis
(b) Baseball
(c) Hockey
(d) Football
(e) Badminton

158. What is the name of the Grand Slam tennis tournament
played on clay courts?
(a) Australian Open
(b) French Open
(c) Wimbledon Championship
(d) US Open
(e) None of these

159. The area of EEZ along the west coast of India is………?
(a) 0.86 million sq. km    (b) 0.90 million sq. km  
(c) 0.56 million sq. km (d) 1.0 million sq. km
(e) 0.46 million sq.km

160. Golf player Vijay Singh belongs to which country?
(a) USA (b) Pakistan
(c) India (d) UK
(e) Fiji

ENGLISH LANGUAGE

DIRECTIONS (Qs. 161-168): Read the following passage and
answer the following questions based on the passage. Some
words are highlighted to help you locate while answering the
questions.
Tightening the noose around fraudsters rigging the Goods and
Services Tax (GST) regime, the government has roped in the
Income tax department to tap illicit incomes as part of a crackdown
against 7,000 fraud companies, identified using data analytics
tools, Finance Secretary Ajay Bhushan Pandey said. Any income
traceable to the use of fake bills and other GST frauds shall be
considered concealed income and attract severe penalties so
direct tax collections may also get a leg-up while better compliance
pushed GST collections to a record high of `1.15 lakh crore in
December 2020.
"GST collections in December show the economy is undoubtedly
on the fast recovery track. We have also been working on
improving compliance for more than a year now, at the systemic
level and at the enforcement level," Mr. Pandey said. "We will
be honouring the honest, but at the same time, we will not hesitate
from doing things to deter those who try to cheat the system. I
think there is now a sense among the fringe elements, who were
trying to game the system that it is not going to be so easy to
continue in that fashion as the times have changed. And that is
leading to better compliance," he added.
Over the past one and a half months, 'concerted action' has
been taken to ensure compliance in the GST net, pooling data
with States, the Income Tax (IT) and Customs departments, banks
and other agencies, the Finance Secretary said. "So we are today
in a position to undertake data analytics to pinpoint those who
are trying to game the system and take targeted action against
such tax frauds. We have been able to identify 7,000 companies
who have been issuing fake bills or using fake bills to ………….
(A) GST and Income Tax," he said. In a recent case, an e-
commerce player was found to have even procured manpower
services from a fake company, he pointed out. Around 187
persons have already been arrested, including five chartered
accountants and a company secretary.
"Most of them had to spend 40-50 days in jail, because the crime
was so grave that the courts were not inclined to give them bail.
The IT Department is also taking action as the direct tax
implications for beneficiaries of fake invoices, are much, much
higher than the GST implication," the top Finance Ministry
official said. "If you see the penalties on I-T evasion, it will be
more than the invoice value itself," Mr. Pandey said. This
co-ordinated action has also helped bolster Customs revenues,
which crossed the ?16,000 crore mark in December, 93% higher
than the same period a year ago.
161. Which of the following can be inferred from the information

given in the passage?
(I) The government has directed Income Tax Department

to seize illegal income of companies marked as frauds
(II) Income generated through using fake bills and GST

hoaxes will be penalized
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(III) Direct Tax and GST collections will be increased with
the penalties on illegal income

(a) Both I and II (b) Both II and III
(c) Both I and III (d) All I, II and III
(e) None of the above

162. Which of the following category of people the author is
referring when he mentions "fringe elements"?
(a) Those who try to manipulate or cheat the system for

their self-interests
(b) Those who know that they can't continue to abuse

the system rules
(c) People who are honest will be hounoured and

cheaters will be prevented from doing so
(d) Those people who have constantly acquired benefits

of system's leniency
(e) None of the above

163. What the GST collections have impacted?
(a) The collections have improved the working of IT

department
(b) They have put wrong-doers behind the bars
(c) They have put economic growth on a fast track
(d) The concealed income of fraud companies is revealed

through GST collections
(e) All of the above

164. What the author refers to when he mentions "concerted
action" according to the above passage?
(a) Actions taken by the IT department to establish

compliance in the GST functionaries
(b) To gather data from States, Income Tax and Customs

and banks
(c) Both (a) and (b)
(d) Undertaking data analytics to target fraud companies

and thus take action against them.
(e) People won't be able to procure manpower from illegal

companies through these actions
165. Which of the following statement cannot be inferred from

the given passage?
(I) The court denies the bail of criminals when the crime

is extremely grave
(II) The times are no more the same where people would

commit crime and not caught
(III) The co-ordinated actions generated higher Customs

revenues
(a) Both I and II (b) Both II and III
(c) Both I and III (d) All I, II and III
(e) None of the above

166. Which of the following is most similar in meaning with the
word BOLSTER as highlighted in the given passage?
(a) Embroil (b) Augment
(c) Vitiate (d) Sententious
(e) Unassuming

167. Which of the following words can fit in the blank (A) to
make the sentence grammatically and contextually correct?
(a) Quaff (b) Evade
(c) Adage (d) Maul
(e) Trite

168. Which of the following mentions the meaning of phrasal
verb ROPED-IN as highlighted in the passage?

(a) Confluence (b) Participate
(c) Oriented (d) Belittled
(e) Persuade

DIRECTIONS (Qs. 169-173): The question consists of six
statements labelled A, B, C, D, E, and F which when logically
ordered form a coherent passage. Choose the option that
represents the most logical order.
(A) It was finally nationally recognized in 2000.
(B) King's widow, Coretta Scott King, continued to fight for

the approval of the holiday and testified before Congress
multiple times.

(C) Most businesses are closed and the federal government
is off as well on this day as people come together to honour
and remember civil rights activist Martin Luther King Jr.

(D) Martin Luther King, Jr Day is celebrated on the third
Monday of every year.

(E) The proposition to mark this day as a federal holiday was
introduced in the late 1960s, but did not come into effect
until decades later.

(F) In fact, in Alabama and Mississippi, it coincides with
Robert E. Lee Day, which celebrates the life of a Confederate
general.

169. Which among the following will be the fourth sentence of
the paragraph after the rearrangement?
(a) D (b) F (c) E (d) A
(e) B

170. Which among the following will be the second sentence
of the paragraph after the rearrangement?
(a) B (b) C (c) E (d) D
(e) F

171. Which among the following will be the fifth sentence of
the paragraph after the rearrangement?
(a) A (b) C (c) F (d) B
(e) E

172. Which among the following will be the FIRST sentence of
the paragraph after the rearrangement?
(a) B (b) D (c) C (d) E
(e) A

173. Which among the following will be the third sentence of
the paragraph after the rearrangement?
(a) A (b) D (c) F (d) B
(e) C

DIRECTIONS (Qs. 174-178): Read the sentence to find out
whether there is an error in it. The error, if any, will be in one
part of the sentence. The number corresponding to that part will
be your answer. If the given sentence is correct as it is, mark the
answer as 'No error'. Ignore the errors of punctuation, if any.
174. The effortlessly chick design of the interiors (1)/ is

matched by the luxury of the(2)/ facilities which include an
indoor pool, hot tub, (3)/ health club and restaurant.(4)
(a) 1 (b) 2 (c) 3 (d) 4
(e) No Error

175. India battled its worst desert (1)/locust outbreak in June-July
this (2)/ year that the spread to nine heartland states and crop
losses (2)/was reported in parts of Rajasthan and UP. (4)
(a) 1 (b) 2 (c) 3 (d) 4
(e) No Error
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176. People notoriously fail (1)/to stick to New (2)/Year's
resolutions, and this (3)/year it may be even harder. (4)
(a) 1 (b) 2 (c) 3 (d) 4
(e) No Error

177. Foreign companies as well as local ones (1)/need good
access to land procurement (2)/in remote parts for potential
(3)/manufacturing or assembly units.(4)
(a) 1 (b) 2 (c) 3 (d) 4
(e) No Error

178. Recent hike in steel prices by domestic (1)/manufacturers
on the back of (2)/run up in global steel prices (3)/have
lead to a rally in the stock. (4)
(a) 1 (b) 2 (c) 3 (d) 4
(e) No Error

DIRECTIONS (Qs. 179-183): In this question, two columns I
and II and three sentences are given, which are divided into
two parts. Column I (A, B and C) consists of first half of each
sentence and Column II (D, E and F) consists of second half of
each sentence. Match column I with column II, so that the
sentences formed are both meaningful and grammatically
correct. Choose the option as your answer.
179. Column (I)

(A) The air hostess' PPE uniform makes him
(B) Faith in entities is often an act of personal commitment
(C) Urdu was considered the language of poetry,
Column (II)
(D) any mass campaign that involves voluntary effort
(E) but now people associate it with terrorism
(F) feel that he is flying to space
(a) B-D (b) A-E and C-F
(c) C-E (d) A-F and C-E
(e) C-D and A-F

180. Column (I)
(A) India's trade with China declined last year to the
(B) The record date for buyback of equity shares
(C) SWITCH UAV is an indigenous system built to cater
Column (II)
(D) to the most demanding surveillance operations of

the Indian forces
(E) as well as payment of the interim dividend will be

January 28
(F) lowest level since 2017, with the trade deficit

narrowing to a five-year low
(a) B-E and C-F (b) A-E, B-E and C-D
(c) A-F and C-D (d) B-F
(e) A-E and C-F

181. Column (I)
(A) This results in governments selling minerals at prices
(B) The Trump administration certainly did achieve some
(C) The Delhi government will provide free COVID-19
Column (II)
(D) rowing empirical evidence of large losses in mining

from around the world
(E) of the outlined objectives, particularly in expanding

security cooperation with India
(F) vaccination to residents of the Capital if the Centre

fails to do so

(a) B-E and C-F (b) A-E, B-F and C-D
(c) A-F and C-D (d) B-F
(e) A-E and C-F

182. Column (I)
(A) The Board said the increased ammonia levels have

impaired
(B) The virus gives cause for an immediate review
(C) America's acrimony towards Cuba has
Column (II)
(D) has tested positive can be allowed to remain
(E) its water treatment plants and a drinking water crisis

looms large in Delhi
(F) its roots in the Cold War period
(a) C-F (b) B-F and C-D
(c) C-D (d) B-F
(e) A-E and C-F

183. Column (I)
(A) It is important to have your presence in
(B) Once the papers are evaluated by the
(C) To thwart any such nefarious activities, a vigorous
Column (II)
(D) exercise has been carried out by the BSF troops all

along the border
(E) the digital space to increase your revenue
(F) teachers, answer keys will be uploaded
(a) B-F and A-E (b) C-D and B-E
(c) A-F and C-E (d) B-D and A-F
(e) A-E, B-F, C-D

DIRECTIONS (Qs. 184-188): In the following passage, there
are blanks each of which has been numbered. These numbers
correspond to the question numbers. Against each question,
five words have been suggested, one of which would fill the
blank appropriately. Mark the suitable word as the answer.
The principle that the economy must be "sustainable" - we cannot
__184___ the ability of future generations to meet their needs -
is beyond question. Climate change and high levels of
consumption already ____185____ to rob future generations
of a planet that is livable. The principle of Intergenerational
Equity would make it imperative for us to ensure future
generations inherit at least as much as we did.
If we are successful in abiding by intergenerational equity, our
children will be at least as well off as we are. If we leave a ___186___
as well, they will be better off than us. To ___187____ what we
have inherited without a thought for generations to come will leave
the whole world poorer; like an addict selling the family gold.
India's National Mineral Policy 2019 states: "natural resources,
including minerals, are a shared inheritance where the state is
the trustee on behalf of the people to ensure that future
generations receive the benefit of inheritance." The primary
objective of a trustee/manager is to maintain the corpus of the
trust, the shared inheritance of natural resources. The
_____188____ of oil, gas and minerals is effectively the sale of
this inheritance, with royalties and other proceeds being the
consideration paid in exchange for the mineral wealth extracted.
184. (a) Disperse (b) Vaccine

(c) Succeed (d) Imply
(e) Compromise
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185. (a) Understood (b) Afflict
(c) Threaten (d) Evacuate
(e) Slacked

186. (a) Bequest (b) Persuade
(c) Obstruct (d) Meritorious
(e) Disconcert

187. (a) Strength (b) Gloom
(c) Disagree (d) Consume
(e) Conquer

188. (a) Ambulation (b) Extraction
(c) Irreversible (d) Exacerbation
(e) Approximation

DIRECTIONS (Qs. 189-191): In the following question, a word
is given, which has been used in the three statements given
below it. Identify the statement(s) in which the word fits
contextually to convey a logical meaning.
189. Disseminate

(1) Universities are expected to help disseminate information.
(2) If researchers are willing to disseminate misleading

claims then their integrity is brought into question.
(3) Internet based media disseminate information and

knowledge far more quickly than conventional media.
(a) Only 1 (b) Both 1 and 2
(c) Only 21 (d) Both 2 and 3
(e) All 1, 2 and 3

190. Inoculate
(1) Maharashtra will inoculate its citizens four days a

week.
(2) Thailand is set to begin inoculating its citizens against

COVID-19 before the end of February.
(3) Police suspect that the woman was inoculated to death.
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Only 3
(e) All 1, 2 and 3

191. Efficacy
(1) Medtronic has launched a clinical trial assessing the

efficacy and safety of a new technique for Parkinson's.
(2) Depression, stress, loneliness and poor health can

weaken the efficacy of vaccines.
(3) It wasn't apparent how the researchers calculated the

efficacy rate as they didn't provide detailed
breakdown of the study.

(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Both 1 and 3
(e) All 1, 2 and 3

DIRECTIONS (Qs. 192-196): In the question given below, a
word is given which is followed by five options. In each of the
options, a pair of words is given, which are either the pair of
synonyms or antonyms or synonym & antonym of the given
word. Choose the correct pair as your answer.
192. Stringent

(a) Fictitious, blunder (b) Strict, Repulsive
(c) Rigourous, Lax (d) Accurate, Lessen
(e) Facilitate, Astound

193. Deter
(a) Grim, Alluring (b) Endure, Clever
(c) Frustrate, Noble (d) Desolate, Malignant
(e) Dissuade, Encourage

194. Captivate
(a) Defamation, Incompetent (b) Fascinate, Disillusion
(c) Terminate, Cruelty (d) Virtuous, Concealed
(e) Prominent, Approve

195. Acrimony
(a) Scorn, Regard (b) Deny, Oppose
(c) Insensitive, Merciful (d) Rancour, Resentment
(e) Prominent, Approve

196. Sabotage
(a) Wreck, Vandalize (b) Harmonious, Unruffled
(c) Stormy, Reveal (d) Disguise, Rebuke
(e) Acclaimed, Ionized

DIRECTIONS (Qs. 197-200): A sentence with one blank is
given, indicating that something has been omitted. Choose the
word that best fits the blank appropriately.
197. Mobile data will allow remote access to all the databases

and software applications a firm can ___________.
(a) Disintegrate (b) Tragic
(c) Open (d) Muster
(e) Praise

198. A _____________ inquiry cannot effectively address the
underlying causes.
(a) Adversary (b) Perfunctory
(c) Laudatory (d) Misery
(e) Rediscovery

199. The local Samiti Member threatened the sand smugglers
to ______ in false cases.
(a) Compassionate (b) Hastened
(c) Implicate (d) Spirited
(e) Requisite

200. Each speech will be followed by a voice vote that is
_______ to a confidence vote.
(a) Appease (b) Irritate
(c) Tedious (d) Courteous
(e) Tantamount

HINDI LANGUAGE

funsZ'k (iz-la- 201-210)% uhps fn, x, x|ka'k dks è;kuiwoZd if<+,
vkSj ml ij vk/kfjr ç'uksa ds mÙkj nhft,A

;g mu fnuksa dh ckr gS tc vesfjdh dkjksckjh fdax ftysV Hkh vkfFkZd
raxh ls xqtj jgs FksA og tSls&rSls xqtkjk dj jgs FksA 'kq: esa dqN nksLrksa us
mudh enn dh ij ckn esa mUgksaus Hkh eq¡g iQsjuk 'kq: dj fn;kA ftysV vius
fy, dksbZ dke <w¡< jgs FksA dke dh ryk'k esa og lqcg fudy tkrs vkSj
Fkds&ekans nsj jkr dks okil vkrsA vkf[kjdkj ,d fnu mUgsa ,d daiuh esa
DydZ dk dke fey x;kA os eu yxkdj viuk dke djus yxsA
,d fnu mLrjs ls lsfoax djrs le; mUgsa cgqr ijs'kkuh dk lkeuk djuk
iM+kA mLrjs dh /kj fudy pqdh Fkh vkSj og ceqf'dy gh dke djrk FkkA
ml fnu ftysV us lkspk fd nk<+h cukus dh isj'kkuh nwj djus ds fy, D;k
dksbZ rduhd ugha bZtkn dh tk ldrhA mlh le; mUgsa CysM cukus dk [;ky
vk;k exj mlds fy, t:jh e'khu [kjhnus esa vleFkZ FksA ysfdu ftysV Ikj
CysM cukus dh /qu lokj gks pqdh Fkh] blfy, mUgksaus dtZ ysdj e'khu
[kjhnhA fiQj os CysM cukus esa tqV x,A mUgsa liQyrk ugha feyh vkSj os iwjh
rjg dtZ esa MwCk x,A yksx mu ij g¡lrs FksA exj bruh eqf'dYk le; esa Hkh
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ftysV us fgEer ugha gkjh vkSj vius dke esa iwjh rUe;rk ls yxs jgsA
mUgsa vius Åij Hkjkslk FkkA vkf[kjdkj mUgksaus CysM cukus esa liQyrk
izkIr dj gh yhA dqN le; esa muds }kjk cuk, x, CysMksa dh Ikwjs fo'o
esa /we ep xbZA muds ikl nkSyr vkSj 'kksgjr nksuksa vk xbZA vkt Hkh
muds cuk, ^ftysV CysM* dh iwjh nqfu;k esa tcnZLr ekax gSA muds cuk,
CysM ds dkj.k mUgsa vkt Hkh yksx ;kn djrs gSaA
201- 'ksfoax djrs le; ftysV dks D;ksa ijs'kkuh gqbZ Fkh\

(a) mLrjk VwV x;k Fkk
(b) mLrjs dh /kj fudy pqdh FkhA
(c) mudk mLrjk VwV x;k Fkk
(d) mUgsa mLrjk yxus ls [kwu fudy vk;k Fkk
(e) buesa ls dksbZ ugha

202- ftysV fdl ns'k ds dkjksckjh Fks\
(a) fczVsu (b) vkWLVsªfy;k
(c) dhfu;k (d) tkiku
(e) bueas ls dksbZ ugha

203- ftysV viuh ftnaxh esa fdl nkSj ls xqtj jgs Fks\
(a) vkfFkZd raxh (b) O;Lrrk
(c) [kq'kgkyh (d) vLoLFkrk
(e) bueas ls dksbZ ugha

204- ftysV ukSdjh feyus ij dSls dke djrs Fks\
(a) cgqr /hjs ls (b) cgqr rsth ls
(c) eu yxkdj (d) dkepksjh djrs Fks
(e) buesa ls dksbZ ugha

205- nk<+h cukus dh ijs'kkuh nwj djus ds fy, ftysV us D;k lkspk\
(a) rduhd bZtkn djus dh laHkkouk ds ckjs esa
(b) lSywu esa nk<+h djokus ds ckjs esa
(c) nk<+h c<+kus ds ckjs esa
(d) u;k mLrjk [kjhnus ds ckjs esa
(e) buesa ls dksbZ ugha

206- ftysV dks D;k dke feyk Fkk\
(a) twrs cspus dk (b) nqdku dh liQkbZ dk
(c) dkj pykus dk (d) lSywu pykus dk
(e) bueas ls dksbZ ugha

207- x|ka'k ds lanHkZ esa ̂ nksLrksa us eq¡g iQsjuk 'kq: dj fn;k* dk vFkZ D;k gS\
(a) nksLrksa us ftysV dh vksj ns[kuk can dj fn;k
(b) nksLr ftysV dks ns[krs gh jkg cny ysrs Fks
(c) nksLrksa us ftysV ls ckr djuk can dj fn;k
(d) nksLrksa us ftysV dks vkfFkZd enn djuk can dj fn;k
(e) buesa ls dksbZ ugha

208- vkt Hkh yksx ftysV dks D;ksa ;kn djrs gSa\
(a) mudh lekt lsok ds dkj.k
(b) ftysV ds CYksM ds dkj.k
(c) mudh cgknqjh ds dkj.k
(d) mudh datwlh ds dkj.k
(e) (b) ,oa (c) nksuksa ds dkj.k

209- ftysV ij D;k /qu lokj Fkh\
(a) [kwc i<+us dh (b) MkWDVj cuus dh
(c) fons'k tkus dh (d) CysM cukus dh
(e) lekt lsok djus dh

210. ftysV ds ikl iSlksa dh deh Fkh fiQj Hkh mlus e'khuas [kjhnh FkhA
(a) mUgksaus e'khu pqjkbZ FkhA
(b) mUgksaus e'khu fdjk, ij yh Fkh
(c) mUgksaus dtZ ysdj e'khu [kjhnh Fkh
(d) mUgksaus e'khu ugha [kjhnh Fkh
(e) buesa ls dksbZ ugha

funZs'k (iz-la- 211&215)% okD; ds v'kq¼ Hkkx dk p;u djsaA

bl izdkj ds iz'u esa ,d okD; dks [k.Mkas esa ckaVdj mUgsa (a), (b), (c),
(d) rFkk (e) dh laKk nh tkrh gSA ijh{kkFkhZ dks okD; dks i<+dj ml [k.M
dk p;u djuk gksrk gS tks O;kdj.k vFkok 'kCn&Kku ds fu;eksa ds
vuqlkj =kqfViw.kZ gksA ;fn lHkh [k.M =kqfV jfgr gksa] rks ^dksbZ =kqfV ugha*
dks mÙkj ds :i esa fpfÉr djsaA
211. chekjh ds fufeÙk (a) / eSa dy dkWyst (b) / u tk ldkA (c) / u

i<+ ldk (d)@ dksbZ =kqfV ugha (e)
212. ;fn i;kZoj.k dh j{kk u dh xbZ (a) / rks ,d fnu ,slk vk;sxk tcfd

(b) / euq"; dk thfor jguk (c) / nwHkj gks tk,xkA (d) / dksbZ =kqfV
ugha (e)

213. igkM+ (a) / ds Åij (b) / ,d eafnj (c) / vkSj ,d rkykc gSA (d)
/ dksbZ =kqfV ugha (e)

214. os fe=k gksdj Hkh (a) / ijLij ,d&nwljs dks lansg (b) / dh nf̀"V
ls ns[krs gSa (c) vkSj O;ogkj djrs gSa (d) / dksbZ =kqfV ugha (e)

215. tc eaS cksyw¡ (a) / ;k funsZ'k nw¡ (b) / rc rqe rqjUr mBdj (c) / pys
tkvks (d) / dksbZ =kqfV ugha (e)

funsZ'k (iz-la- 216-220)% uhps fn, x, okD;ksa ds fjDr&LFkkuksa dh iwfrZ
dhft,A blds fy, ik¡p fodYi izLrkfor gSaA mi;qDr fodYi dk p;u
dhft, rFkk mÙkj&i=k esa funZs'kkuqlkj fpÉ yxkb,A

216. fof/ dk ;gh .......................... gS fd tks tUek gS mldh eR̀;q
vo'; gksxhA
(a) vuqns'k (b) jpuk
(c) izko/ku (d) vè;kns'k
(e) fo/ku

217. oSKkfudksa us vc thoksa esa ............. xq.kksa dk lekos'k djus dh
{kerk izkIr dj yh gSA
(a) vkuqikfrd (b) vuqJkfod
(c) vkuq"kafxd (d) vkuqokaf'kd
(e) tSfod

218. ekuuh; U;k;k/h'k us okn dks [kfjt djrs gq, oknh dks dksbZ
............. ugha iznku fd;kA
(a) lgk;rk (b) ikfjrksf"kd
(c) funsZ'k (d) vuqrks"k
(e) vk'oklu

219. vk.kfod HkV~fB;k¡ vlhfer 'kfDr dk ............. gSaA
(a) lk/u (b) lzksr
(c) midj.k (d) ekè;e
(e) dks'k

220. vr% uez ............. gS fd eq>s ,d lIrkg dk vodk'k iznku fd;k tk,A
(a) fou; (b) vkxzg
(c) vkosnu (d) fourh
(e) fuosnu
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funZs'k (iz-la- 221-225) : uhps (A),(B), (C), (D) vkSj (E) esa ik¡p
dFku fn, x, gSaA bUgsa bl rjg Øec¼ dhft, fd muls ,d vFkZiw.kZ
cu tk,A fiQj mlds ckn fn, x, iz'uksa ds mÙkj nhft,A

(A) lqurs gh fl;kj cksyk& vkSjksas dk rks ,d] fdUrq vkids vBkjg vax
Vs<+s gSaA

(B) ,d ckj ,d LFkku ij gkFkh] ck?k] rksrk dqÙkk] cxqyk] ÅaV vkfn
i'kq&i{kh fey tk,A

(C) mnkgj.k nsrs gq, og cksyk&gkFkh dh lwaM] dqÙks dh iwaN] ck?k ds
uk[kwu] rksrs dh pksap vkSj cxqys dh xnZu Vs<+h gSaA

(D) mRlkgh ÅaV dks vius Kku dk cgqr vfHkeku FkkA
(E) mlus lHkh izkf.k;ksa dks lacksf/r djrs gq, dgk&bl nqfu;k esa Vs<+s

vax okys i'kqvksa dh Hkjekj gSA
221. ifjPNsn dk vafre okD; dkSUk&lk gksxk\

(a) A (b) B (c) C (d) D
(e) E

222. ifjPNsn dk igyk okD; dkSu&lk gksxk\
(a) A (b) B (c) C (d) D
(e) E

223. ifjPNsn dk pkSFkk okD; dkSUk&lk gksxk\
(a) A (b) B (c) C (d) D
(e) E

224. ifjPNsn dk rhljk okD; dkSu&lk gksxk\
(a) A (b) B (c) C (d) D
(e) E

225. ifjPNsn dk nwljk okD; dkSUk&lk gksxk\
(a) A (b) B (c) C (d) D
(e) E

funsZ'k (iz-la- 226-235)% uhps fn, x, ifjPNsn es dqN fjDr&LFkku
NksM+ fn, x, gSa rFkk mUgsa iz'u la[;k esa n'kkZ;k x;k gSA ;s la[;k,¡
ifjPNsn ds uhps eqfær gSa] vkSj izR;sd ds lkeus (a), (b), (c), (d) vkSj
(e) fodYi fn, x, gSaA bu ikap esa ls dksbZ ,d bl fjDr&LFkku dks iwjs
ifjPNsn ds lanHkZ esa mi;qDr <ax ls iwjk dj nsrk gSA vkidks og fodYi
Kkr djuk gS] vkSj bldk Øekad gh mÙkj ds :i esa n'kkZuk gSA fn, x,
fodYiksa esa ls mfpr fodYi pquf, vkSj mlds vuqlkj lgh mÙkj nhft,A

jk?ko dh ek¡ dks yxk Fkk tSls (226) dh ,d ikxy vk¡/h us mls Hkkjr
ls mBk dj (227) eas iQsad fn;k gksA ftl ,dek=k csVs ds ifjokj ds clus
Ikj mldh (228) lkjh gljrsa fVdh Fkha] ml ykMys us ,d ,slk (229)
lkeus j[k fn;k Fkk tks ,d nqxZe vkSj vya?; (230) dh rjg ek¡ ds
lkeus mifLFkr gks x;kA iQSlyk Hkh ,slk tks de&ls&de Hkkjr o"kZ dh
izd`fr dk rks fcYdqy gh ugha FkkA jk?ko us n`<+rk ls dgk] ^vc eq>ls
'kknh djuk (231) ugha gksxk] ek¡A ?kj&x`gLFkh esa nsus ds fy, esjs ikl
(232) Vkbe ugha gS] u fliQZ esjs ikl] cfYd jatuk ds ikl Hkh ugha gSA
ns[k gh jgh gks] ge nksuksa dh gh tkWc dh (233) ,slh gS fd jkr X;kjg
cts rd gesa jÙkh Hkj IkQqlZr ugha feyrhA blfy, geus feydj r; fd;k
gS fd fiQygky 'kknh ds (234) esa u ca/saA* ek¡ Ikj ekuksa ?kM+ksa Ikkuh iM+
x;kA oks (235) yxh fd fyo&bu&fjys'kuf'ki dk Hkwr esjs csVs dks gh
yxuk Fkk!
226- (a) [kq'kh (b) nq%[k

(c) ifjorZu (d) vkosx
(e) vkink

227- (a) vesfjdk (b) fnYyh
(c) ?kj (d) IkkfdLrku
(e) y[kuÅ

228- (a) vR;f/d (b) csiukg
(c) vla[; (d) cgqr
(e) vlhe

229- (a) vR;kpkj (b) O;ogkj
(c) dfBu (d) IkQSlyk
(e) ljy

230- (a) jktekxZ (b) ioZRk
(c) fu.kZ; (d) ekxZ
(e) mik;

231- (a) laHko (b) dSls
(c) vkf[kj (d) dksbZ
(e) vlaHko

232- (a) dSlk (b) j[kk
(c) ?kj (d) fcYdqy
(e) Bhd

233- (a) eLrh (b) laHkkouk
(c) rkdr (d) dHkh
(e) lnSo

234- (a) eLrh (b) laHkkouk
(c) rkdr (d) pkgr
(e) izcyrk

235- (a) jksus (b) lkspus
(c) Mjus (d) fy[kus
(e) i<+us

funZs'k (ç-la- 236-237) % uhps fn, x, fodYiksa esa ls i;kZ;okph 'kCn
pqusaA

236. jkf=k
(a) {kik (b) rehpj (c) vEek (d) foHkkojh
(e) okj

237. rjf.k
(a) lw;Z (b) uko (c) ;qorh (d) unh
(e) fdj.k

funZs'k (ç-la- 238-240) % uhps fy[ks iz'uksa esa fn;s x;s 'kCnksa ds foykse
crkb;sA

238. nqtZu
(a) lqtu (b) lacaèkh
(c) ifjtu (d) lktu
(e) lTtu

239. ^Ñi.k* dk mi;qDr foykse 'kCn pqusaA
(a) ijksidkjh (b) nkuh
(c) fHk[kkjh (d) LokFkhZ
(e) leFkZd

240. ^yf?kek* dk mi;qDr foykse gksxk%
(a) y?kqRo (b) xq#Ro
(c) efgek (d) nh?kZ
(e) xfjek
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Sol. (1-5) :

(27)
S

P (29)

U (19)

R
(17)

Q
(23)

T
(32)

(30) W

(39) V

1. (d) 2. (b) 3. (e)
4. (b) Age of all is odd, except W.
5. (b)
Sol. (6-10) :

Year Person Foods
1990 R Dhokla
1991 W Burfi
1992 T Biryani
1993 U Peda
1994 P Laddu
1995 S Petha
1996 Q Jalebi
1997 V Samosa

6. (c) 7. (d) 8. (d) 9. (e) 10. (d)
Sol. (11-15) :

G H C A E B D F
11. (d) 12. (c) 13. (a) 14. (e) 15. (d)
Sol. (16-20) :

H 3 Kg. Orange balls
G 4 Kg. Red blls
F 8 Kg. Blue balls
E 7 Kg. White balls
D 9 Kg. Black balls
C 6 Kg. Green balls
B 2 Kg. Pink balls
A 5 Kg. Yellow balls

16. (c) 17. (d) 18. (e) 19. (e) 20. (c)

21. (e) P % K P K® >

P & R P R® £

S $ R S R® =

S & T S T® £
On combining given statements :
K P R S T< £ = £
Conclusions :
I. P@S P S® <  (False as P R S and P S)£ = £

II. T % P T J® >  (False as P R S T and T P)£ = £ ³

III. P$T P T® =  (False as P R S T and P T)£ = £ £
Hence, no conclusion follows.

22. (a) T $F T F® =

F #G F G® ³
G @ H G H® <

H%R H R® ³
On combining these statements :
T F G H R= ³ < ³
Conclusions :
I. T%G T G® >  (False as T F G and T G)= ³ ³

II. F@ H F H® <  (False as F G H.³ <  There is no
relation beween F and H)

III. R %G R G® >  (False as G H R.< ³  There is no
direct relation between R and G)

Hence, no conclusion follows.
23. (b) C@ D C D® <

D # C D C® ³
F@ C F C® <

F$G F G® =
On combining these statements :
C D E F G< ³ > =
Conclusions :
I. C%D C E® >  (False as C D E.< ³ There is no

relation between C and D)
II. G @ D G D® <  (True as D D F G)³ > =

III. D%G E G® >  (True as D F G)> =
Hence, both conclusion II and III follows.

24. (c) Rahul speaks louder is coded as '6ca 7ka 8ud'.
Drama speaks truth is coded as '4vm 8ud 5ht'.
Rahul played Drama is coded as '2ck 6ca 4vm'.
Truth louder go is coded as '3pm 5ht 7ka'.
From the common explanation, we get that the code for go is '3pm'.
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25. (b) From the given image it is clear that chowk is in south-
west of Mohan's home.

Mohan's
home Market

MandirChowk

Mohan's
office

9 m

16 m

9 m

9 m

26. (b)

Q
+

P
+

N
–

M
+

For M's being nephew of Q, M must be a son of Q's sister
N. Therefore, only the symbol of '-' will come in the place
of question mark.

27. (e) Q
+

T

P
+

S
+

R
–

It's clear from the family tree that no option is satisfying
the relationship and hence 'None is true'.
Hence, the option (e) is correct.

28. (c) Only son of Nitin's mother's father - Nitin's maternal uncle.

Mother Mother

Nitin

Father

Brother

Girl
So, the girl's maternal uncle is Nitin's maternal uncle.
Thus, the girl's mother is Nitin's aunt.

29. (c) Only II is sufficient to answer the question.
Statement II :

Red

Black

Blue White
Yellow

30. (d) And I, II and III are sufficient to answer the question.
Statement I, II and III :
W  P – X – A – – Z  Q  V  U  T  R   South¯
There are 14 men standing in the line.

31. (b) Statement I and III :

7 G
6 A
5 C
4 F
3 D
2 B
1 E

32. (e) Three, 3 is preceded by 'U', 8 is preceded by 'A' and 9
is preceded by 'E'.

33. (d) 8; the seventh element from left is 3 and 2nd element
to the right of 3 is 8.

34. (c) Neither conclusion I nor II is true; None of the
conclusions gives a valid reason for the statement to be
correct.

35. (d) Metro Train Rajdhani Tejas

36. (e) Pen Pencil Eraser Bag

Sol. (37-39) :

Order of Weight Height
Anu
Radha
Payal
Priya
Geeta
Jyoti
Deepa

Geeta
Radha
Priya
Payal
Deepa
Anu
Jyoti

37. (d) 38. (e) 39. (b)
40. (d) PLANTATION

3rd - A
7th - T
9th - O
So, none meaningful word could be formed.

41. (a) Total expenditure on rent = 24 months × $500 = $12000
Total expenditure on utilities = 24 months × $350 = $8400
Total expenditure on tuition fees = 4 semesters × $25000
= $100000
Thus total expenditure
= $(12000 + 8400 + 100000) = $120400
The bank paid 70% of this amount.

\ Amount paid by the bank 
70 120400 $84280

100
= ´ =

42. (c) Total expenditure on rent = 24 months × $500 = $12000
Total expenditure on utilities = 24 months × $350 = $8400
Total expenditure on tuition fees = 4 semesters × $25000
= $100000
Thus total expenditure
= $(12000 + 8400 + 100000) = $120400
The bank paid 70% of this amount.

\ Amount paid by the bank 
70 120400 $84280

100
= ´ =

Simple interest 
84280 2 10

$16856.
100
´ ´

= =

43. (c) Total annual expenditure on rent
= 12 months × $500 = $6000
Total annual expenditure on utilities
= 12 months × $350 = $4200
Clearly the amount spent on utilities is less than the amoutn
spent on rent.
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\ Required percentage

6000 4200 1800 100100 30%.
6000 6000
- ´é ù= ´ = =ê úë û

44. (e) The salary earned during internship = 4 × 13000 = $52000
Total expenditure on rent in 4 months
= 4 × $500 = $2,000
Total expenditure on utilities in 4 months
= 4 × $350 = $1400
Total expense = $(2000 + 1400) = $3400.
\ Required percentage

3400 340100 6.53%.
52000 52

= ´ = =

45. (a) Per month rent = $500
Utilities cost per month = $350
Total saving per month = $500 + $350 = $850
Total saving in 7 months = 7 × 850 = $5950

46. (b) Average number of candidates passed from all institutions

1 60 50 801300 1400 700
7 100 100 100
é= ´ + ´ + ´êë

50 60 90 801200 1500 600 1100
100 100 100 100

ù+ ´ + ´ + ´ + ´ úû

1 [780 700 560 600 900 540 880] 708.
7

= + + + + + + »

47. (e) Number of students appeared from college Q, R, S
and U = 1400 + 700 + 1200 + 600 = 3900.
Number of students passed from college P, T and V

60 60 801300 1500 1100 2560.
100 100 100

= ´ + ´ + ´ =

\ Difference in number of students
= 3900 – 2560 = 1340.

48. (a) Number of candidates passed from R and T together
80 60700 1500 1460.

100 100
= ´ + ´ =

Number of candidates passed from P and V together
60 801300 1100 1660.

100 100
= ´ + ´ =

\ Required percent 
1460 100 88%.
1660

= ´ =

49. (c) Difference between appeared candidates and passed
candidates from

College P :
401300 520

100
´ =

College Q : 501400 700
100

´ = (Maximum)

College R :
20700 140

100
´ =

College S :
501200 600

100
´ =

College T :
401500 600

100
´ =

College U :
10600 60
100

´ = (Minimum)

College V :
201100 220

100
´ =

50. (d) Number of candidates failed from college Q
501400 700

100
= ´ =

Number of candidates appeared from college U = 600

\ Required rato 
700 7 : 6.
600

= =

51. (d) 711 + 8 = 719
719 + 16 = 735
735 + 32 = 767
767 + 64 = 831
831 + 128 = 959

52. (c) 72 × 5 = 245
82 × 6 = 384
92 × 7 = 567
102 × 8 =800
112 × 9 = 1089
122 × 10 = 1440

53. (e) 2755 – 9 × 14 = 2629
2629 – 10 × 15 = 2479
2479  – 11 × 16 = 2303
2303 – 12 × 17 = 2099
2099 – 13 × 18 = 1865

54. (a) 29 + 32 = 38
38 – 43 = –26
–26 + 52 = –1
–1 – 63 = –217
–217 + 72 = –168

55. (d) 252 + 7 = 632
242 + 6 = 582
232 + 5 = 534
222 + 4 = 488
212 + 3 = 444
202 + 2 = 402

56. (c) For profit to be maximum, the derivative of p with
reference to x must be 0 and hence

2(250 5 ) 0 250 10 0d x x x
dx
-

= Þ - =

So, x = 25
Now p for x = 25 is
250(25) – 5(25)2 = Rs. 3125.
So, number of boys = 25 and overall profit is Rs.3125.

57. (d) We know that,

Cost price 
100 SP

100 Loss%
æ ö

= ´ç ÷-è ø

100 1008760 8760 14, 600.
100 40 60

= ´ = ´ =
-

`
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58. (d) Original cost of a four wheeler and Flat
= 4,00,000 + 8,00,000 = Rs. 12,00,000
New cost of four wheeler
= 400000 × 0.85 × 0.87 × 0.89 = Rs. 2,63,262
New cost of Flat
= 800000 × 1.1 × 1.12 × 1.14 = Rs. 11,23,584
\ Total new cost = Rs. 13,86,846
\ Change = increase of Rs. (13,86,846 – 12,00,000)
= Rs. 1,86,846.

59. (e) Combined work done by Sona and Gaurav in 3 + 7

days (3 initial days and last 7 days) 
10 10 2
24 40 3

= + =

\ Remaining work 
2 11
3 3

= - =

Pintu works for 
1 30 10
3
´ =  days.

60. (c) Let the distance be x, then
(Time taken to walk x km) + (Time taken to ride x km) = 27
min.
Þ (Time taken to walk 2x km) + (Time taken to ride 2x km)
= 54 min.
But, time taken to walk 2x km = 35 min.
So, time to ride 2x km = (54 – 35) min = 19 min.

61. (b) Given that principal P = Rs. 10,277
Rate R = 13%
Number of installments
Þ Value of each installment

2 3100 100 100
100 100 100

P

R R R

=
æ ö æ ö æ ö+ +ç ÷ ç ÷ ç ÷+ + +è ø è ø è ø

2 3
10277

100 100 100
100 13 100 13 100 13

=
æ ö æ ö æ ö+ +ç ÷ ç ÷ ç ÷+ + +è ø è ø è ø

10277 Rs.4300.
2.39

= =

62. (e) Sum 
2

2
Difference ×100

r
=

Given,
Sum (Amount) = 10000, Difference = 81, r = ?

2 2
2

2
81 100 81 10010000

10000
r

r
´ ´

= Þ =

2 81 9%.r rÞ = Þ =
63. (a) The total no. of letters in the word 'REGULAR' is 7

where R appears twice.

Required no. of ways 
7! 7 6 5 4 3 2520.
2!

= = ´ ´ ´ ´ =

64. (e) When 4 coins are tossed simultaneously, the total
number of outcomes is 24 = 16.
At least 3 heads implies that one can get either 3 heads or
4 heads.

One can get 3 heads in 4C3 = 4 ways
\ Total number of favourable outcomes = 4

So, probability of getting exact 3 heads is 
4 1

16 4
= =

65. (b) Sales tax on the watch sold at Rs. 300
300 8 24

100
´

= =

Sales tax on the watch sold at Rs. 5400 
5400 9 486

100
´

= =

Total tax = 24 + 486 = 510

Percentage sales tax 
510 510 54100 8 %.
5700 57 57

= ´ = =

66. (e) Male employees in Management
7

12
=  of 12% of total employees

Male employees in Accounts
2
3

=  of 6% of total employees

\ Ratio 

7 12% total employees
12

2 6% total employees
3

´ ´
=

´ ´

   
14 3 7 : 4.
12 2

= ´ =

67. (b) Required difference = 3000 × (18 – 14)%

     
3000 4 120.

100
´

= =

68. (a) Male employees in HR 
7 15%

15
= ´  of 3000

7 15 3000 210.
15 100

= ´ ´ =

Male employees in Marketing 
5 16%
8

= ´  of 3000

5 16 3000 300.
8 100

= ´ ´ =

Female employees in HR 
8 15%

15
= ´  of 3000

8 15 3000 240
15 100

= ´ ´ =

Female employees in Marketing 
3 16%
8

= ´  of 3000

3 16 3000 180.
8 100

= ´ ´ =

Total no. of males in HR and Marketing = (210 + 300) = 510.
Total no. of females in HR and Marketing = (240 + 180) = 420.

Required ratio 
510 51 17 :14.
420 42

= = =
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69. (e) Total female employees in Printing
3
5

=  of 8% of total employees

3 8 3000 144.
5 100

= ´ ´ =

70. (d) Difference between male and female in Social Media
department

6 11 5 113000 3000
11 100 11 100

= ´ ´ - ´ ´

= 180 – 150 = 30.
71. (c) Number of Laptop manufactured during 2007 to 2012

= 250 + 200 + 230 + 245 + 260 + 275 = 1460.
Number of Macbook manufactured during 2007 to 2012
= 140 + 155 + 160 + 175 + 185 + 220 = 1035
Number of Desktop manufactured during 2007 to 2012
= 115 + 120 + 135 + 125 + 130 + 120 = 745.
Thus, Laptop is manufactured in maxmum number.

72. (e) Production of Laptop in 2007 = 250 and in 2012 = 275

\ % increase 
275 250 100 10%.

250
-

= ´ =

73. (b) The table shows that the production of Macbook
increases continuously over the years.

74. (b) Production of Desktop in 2011 = 130
Production of Laptop in 2010 = 245

Required % 
130 100 53.06%.

245
´

= =

75. (d) Production of Macbook in 2008 = 155 and that in
2010 = 175.

\ % increase 
175 155 20100 100 12.9%.

155 155
-

= ´ = ´ =

76. (e) Let the two-digit number = ab = 10a + b
From the statement I, we can conclude that,
a + b = 7 ...(1)
From the statement II, we can conclude that,
10b + a = 10a + b + 45
9(b – a) = 45 ...(2)
From Eqn. (1) and (2),
a + b = 7
b – a = 5

2 12b =
6, 1.b aÞ = \ =

So, number is 16.
Therefore, the data in both the statements I and II together
is necessary to answer the question.

77. (e) From the statement I, the efficiency of pipe x per hour
2300
11

=  litres per hour

From the statement II, the efficiency of pipe y.
2.5 × 60 = 150 litres/hr
Time required to fill 2300 litres tank

2300 hr. = 15.33 hr.
150

=

Time required to fill the tank together
11 15.33 6.4 hr.
11 15.33
´

= =
+

The time it will take to fill 2300 litres of water = more than 5
hours, therefore answer will be no.
Therefore, the data in both the statements I and II together
in necessary to answer the question.

78. (e) Let the speed of Lokesh = m km per hour
Then the speed of Rohit = n km per hour
From the statement I, n = m + 12

Starting End
Speed 10 13     { 30% 10 13}­= ®Q

Time 13 10
3 unit — 3 hrs.

           \ 1 unit — 1 hr.
           \ 13 unit — 13 hrs.

From the queston, 
390 30 Km/hr.
13

=

From the statement II, so speed of Rohit is 30 km per hour.
By combining both the statement, we can get the value of
m as well which is 18 km per hour.
So Lokesh will take 7 hours to cover 126 km at a speed of
18 km per hour.
So, data in both the statements I and II together is
necessary to answer the question.

79. (b) From the statement I, AB = 40 cm
BC = 9 cm but we could not conclude which of the angle is
right angle therefore we could not get unique answer only
by the statement I.
From the statement II, let the sides of the triangle = a, b
and c where c is hypotenuse.

Then, Inradius 4
2

a b c+ -
= =

And, circumradius
hypotenuse 20.5 41 cm

2 2
c c= = = Þ =

a + b = 49
By the Pythagorean theorem we can calculate the value of
a and b, after that we can conclude the area.
Therefore, the data in statement II alone is sufficient to
answer the question, while the data in statement I alone is
not sufficient to answer the question.

80. (d) From the statement I,
17m + 5n = 145 ...(1)
From the statement II,
n = 29 – 3.4m ...(2)
Multiply by 5 in eqn. (2)
5n + 17m = 145 ...(3)
Here, both the equations are same it means we have two
variable and one equation therefore we could not conclude
the value of two variable from one equation.
Therefore, the data in both the statements I and II is not
sufficient to answer the question.

81. (c) 82. (a) 83. (a) 84. (b) 85. (a) 86. (d)
87. (b) 88. (b) 89. (a) 90. (c) 91. (c) 92. (d)
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93. (a) 94. (d) 95. (a) 96. (b) 97. (a) 98. (d)
99. (e) 100. (d) 101. (d) 102. (a) 103. (d) 104. (a)
105. (c) 106. (d)
107. (e) Given number 421 is of base 10 which means it is a

decimal number. For decimal to binary conversion divide
421 by 2. Since we are dividing by 2, when the dividend is
even the binary remainder will be 0, and when the dividend
is odd the binary remainder will be 1.

2 421 1  
2 210 0 
2 105 1 
2 52 0 
2 26 0 
2 13 1 
2 6 0 
2 3 1 
2 1  
 

Hence, (421)10 = (110100101)2
108. (a) BSODs appear when Microsoft Windows encounters

a critical error it can't recover from, requiring a reboot and
possibly resulting in lost work. It stands for blue screen of
death. Blue screens are generally caused by problems with
your computer's hardware or issues with its hardware driver
software. A blue screen occurs when Windows encounters
a "STOP Error." This critical failure causes Windows to crash
and stop working.

109. (a) 110. (a) 111. (e) 112. (a) 113. (b) 114. (d)
115. (a) 116. (a) 117. (b) 118. (c) 119. (c) 120 (c)
121. (b) The 15th meeting of Group of Twenty (G20) held from

21-22 November 2020. Originally scheduled to take place
in Riyadh, Saudi Arabia, the event held virtually, as per a
28 September announcement. This event marks the first
time that Saudi Arabia will hold the Presidency of the G20.
The Saudi Arabian Presidency has selected the theme,
‘Realizing Opportunities of the 21st Century For All.

122. (a) This International Mountain Day is celebrated on
December 11 by United Nations and several other
international organisations. It is important to conserve
mountains as they are home to 15% of world population.
This year the International Mountain Day is being
celebrated under the theme ‘Mountain Biodiversity’.

123. (a) A book titled ‘A Song of India’ authored by Ruskin
Bond. It was released on July 20, 2020. This book will mark
the 70th year of the author’s literary career.

124. (e) The budget 2020-21 is woven around three prominent
Themes-aspirational India in which all sections of the
society seek a better standard of living, with access to
health, education, and better job; Two, economic
development for all, to ensure higher productivity and
greater efficiency. Three, ours shall be a caring society
that is both humane and compassionate society.

125. (c) The 2019 ICC Cricket Wor ld Cup was the
12th Cricket World Cup, a quadrennial One Day
International (ODI) cricket tournament contested by men’s
national teams and organised by the International Cricket
Council (ICC). England were declared winners of the Cricket

World Cup 2019 after a tied match and Super Over against
New Zealand on account of the superior number of
boundaries hit by the hosts.The captain of the winning
team was Eoin Morgan.

126. (d) The loan limit on the Mudra Loan is ̀  10 Lakh which
is set according to three schemes. The schemes are Shishu-
for loans up to ` 50,000, Kishore- for loans exceeding
` 50,000 to up to ̀  5 Lakh, and Tarun- for loans amounting
to ` 5 Lakh to 10 lakhs.

127. (e) World Population Day is an annual event, observed
on July 11 every year, which seeks to raise awareness of
global population issues.

128. (d) Allahabad Bank, one of the oldest public sector banks
in the country, was merged with the Indian Bank on 15th

February 2021. After Allahabad Bank’s merger with
the Indian Bank, new rules have come into force from 16th

February.
129. (a) Capital Small Finance Bank Ltd is the country’s first

small finance bank opened in Jalandhar. It is first among
the 10 entities that were given the in-principle approval by
the Reserve Bank of India (RBI) to set up small finance
banks.

130. (d) Digital Quality of Life (DQL) Index 2020 has been
released by SurfShark, an online privacy solutions
provider. 7 out of 10 countries with the highest DQL are in
Europe, with Denmark leading among 85 countries.
According to it, India ranks among the lowest in the world
in terms of Internet quality.

131. (a) Ruskin Bond has written the book How to be a writer”.
Ruskin Bond is an Indian author of British descent. He
lives with his adopted family in Landour, Mussoorie, India.
The Indian Council for Child Education has recognised
his role in the growth of children’s literature in India.

132. (e) The value of Special Drawing Right (SDR) is
determined by the basket of 5 currencies. The currencies
are, US Dollar, Japanese Yen, British Pound, Chinese Yuan
and Euro.

133. (c) The IMF decided that the Renminbi (Chinese yuan)
would be added to the SDR basket since October 1, 2016.
Since then SDR basket consists of the following five
currencies: U.S. dollar 41.73%, Euro 30.93%, Renminbi
(Chinese yuan) 10.92%, Japanese yen 8.33%, British pound
8.09%.

134. (b)
135. (c) Since this right is not absolute, it can be curtailed by

legislation by parliament. During emergency, Article 19 is
eclipsed by the superior right of the State to enact laws
abrogating freedoms of a citizen (under Article 358). The
suspension of Article 19 continues so long as the
proclamation of such emergency is in operation 1 and
automatically revives when the proclamation cases to
operate.

136. (a) Special provisions have been in Part XVI of the Indian
constitution for the betterment of the Scheduled Castes
and Scheduled Tribes, Other Backward Classes and Anglo
Indians. These provisions have the reservation of the jobs,
legislatures, etc. for the SCs, STc and OBCs.

137. (a) UNICEF is an acronym for the United Nations
International Children Emergency Fund. It is headquartered
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in New York City, United States. The United Nations General
Assembly formed it in 1946. During this time, UNICEF used
to be called the United Nations Children Fund.

138. (e) National Technology Day is celebrated every year
on May 11 to highlight the achievements of engineers and
scientists in the field of technology and science.

139. (c) Mahatma Gandhi Employment Guarantee Act 2005
(or, NREGA No 42, later renamed as the “Mahatma Gandhi
National Rural Employment Guarantee Act” or
MGNREGA), is an Indian labour law and social
security measure that aims to guarantee the ‘right to work’.
This act was passed in September 2005 and came into
force on 2nd February 2006.

140. (e) Jakarta has functioned as the national capital since
Indonesia began to realize its independence in late 1949.

141. (e) Virat Kohli, who had scored 20,396 runs in all
international cricket during the time period, which is more
than anyone else, was also part of team India that won the
ICC CWC 2011 and ICC Champions Trophy 2013. He was
also named ICC Cricketer of the Year in both 2017 and
2018, so it was no surprise that he emerged as the clear
jury favourite with winning the Sir Garfield Sobers Award
for ICC Male Cricketer of the Decade.

142. (d) Minimum Support Price (MSP) is a form of market
intervention by the Government of India to insure
agricultural producers against any sharp fall in farm prices.
The minimum support prices are announced by the
Government of India at the beginning of the sowing season
for certain crops on the basis of the recommendations of
the Commission for Agricultural Costs and Prices (CACP).

143. (c) “IPO” stands for “initial public offering.” When the
news media report that a company is “going public,” this
means that company is making an initial public offering.
This means that the company is offering its shares for sale
to the public for the first time.

144. (c) ‘RTGS’ or Real Time Gross Settlement is a fund
transfer method through which money is sent in ‘real time’
basis without any delays. This electronic fund transfer
system allows the money sent by the remitter to immediately
reach the payee/beneficiary as and when the money
transfer transaction is initiated.

145. (b) Sukanya Samriddhi Yojana is a small deposit scheme
of the Government of India meant exclusively for a girl child
and is launched as a part of Beti Bachao Beti Padhao
Campaign. The scheme is meant to meet the education and
marriage expenses of a girl child.The scheme was launched
by Prime Minister Narendra Modi on 22 January 2015 in
Panipat, Haryana. The accounts can be opened at any India
Post office or a branch of some authorised commercial banks.
Initially, the interest rate was set at 9.1% but later revised to
9.2% in late March 2015 for FY2015-16.

146. (d) A Non-Banking Financial Company (NBFC) is a
company registered under the Companies Act, 1956 engaged
in the business of loans and advances, acquisition of shares/
stocks/bonds/debentures/securities issued by Government
or local authority or other marketable securities of a like
nature, leasing, hire-purchase, insurance business, chit
business but does not include any institution whose
principal business is that of agriculture activity, industrial

activity, purchase or sale of any goods (other than
securities) or providing any services and sale/purchase/
construction of immovable property.

147. (e) NABARD stands for National Bank for Agriculture
and Rural Development. This bank deals with matters
concerning policy, planning and operations in the field of
credit for agriculture and other economic activities in rural
areas in India. Its headquarters is located in Mumbai

148. (e) Priority Sector includes the categories such as
Agriculture, Micro, Small and Medium Enterprises
(MSME), Export Credit, Education, Housing, Social
Infrastructure and Renewable Energy.

149. (c) Eastern Dedicated Freight Corridor (EDFC) is a freight
specific railway under construction in northern to eastern
India by the Indian Railways. The railway will run between
Ludhiana in Punjab and Dankuni (near Kolkata). 

150. (a) Loans to individuals for educational purposes
including vocational courses upto ̀  1 million irrespective
of the sanctioned amount are eligible for classification
under priority sector.

151. (c) The activities covered under Agriculture are classified
under three sub-categories viz. Farm credit, Agriculture
infrastructure and Ancillary activities.

152. (e) Some Key Features of Delhi School Bag Policy
includes the weight of the school bag of students between
Class 1 and Class 10 should not be more than 10% of their
body weight,  use textbooks prescribed by NCERT, SCERT
and CBSE only,  to promote holistic development of
students through participation in games, art and culture,
sports and other creative activities and the students should
be practiced with the habit of reading library books.

153. (e) The Statue of Liberty, ‘Liberty Enlightening the
World,’ was a gift of friendship from the people of France
to the people of the United States and was dedicated on
October 28, 1886, designated as a National Monument
in 1924 and restored for her centennial on July 4, 1986.

154. (b) The Central Vigilance Commission (CVC) has constituted
Advisory Board for Banking Frauds (ABBF) headed by former
Vigilance Commissioner T M Bhasin to examine bank
fraud over Rs 50 crore and recommend action.

155. (a) World’s first cellular system was developed by Nippon
Telephone and Telegraph (NTT). The Nippon Telegraph and
Telephone commonly known as NTT, is a Japanese
telecommunications company headquartered in Tokyo, Japan.

156. (a) The Reserve Bank of India (RBI) has released the
National Strategy for Financial Education (NSFE) for the
next five years (2020-2025). Under this, the central bank
has recommended a ‘5-Core Actions’ approach for
dissemination of financial education in the country.

157. (c) A Hockey competition is awarded the “Stanley Cup”.
158. (b) French Open is the name of the Grand Slam tennis

tournament played on clay courts. The Grand Slam
tournaments, also called majors, are the four most important
annual tennis events. The Grand Slam itinerary consists
of the Australian Open in mid-January, the French Open
(also known as Roland Garros) from around late May to
early June, Wimbledon in June–July, and the US Open in
August–September. Each tournament is played over a two-
week period. The Australian and the United States
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tournaments are played on hard courts, the French on
clay, and Wimbledon on the grass. Wimbledon is the oldest,
founded in 1877, followed by the US in 1881, the French in
1891, and the Australian in 1905.

159. (c) The total area of EEZ of India is estimated at 2.02
million km2 against its land area of about 3.2 million km2

comprising of 0.86 million km2 on the west coast, 0.56
million km2 on the east coast and 0.60 million km2 
around Andaman and Nicobar islands.

160. (e) Golf player Vijay Singh is an Indo-Fijian belongs to
Fiji. He was born in 1963, who was number 1 in the Official
World Golf Ranking for 32 weeks in 2004 and 2005.

161. (d) Refer to the first paragraph, the hint can be drawn
from the lines,
Tightening the noose around fraudsters rigging the Goods
and Services Tax (GST) regime, the government has roped
in the Income tax department to tap illicit incomes as part
of a crackdown against 7,000 fraud companies, identified
using data analytics tools, Finance Secretary Ajay Bhushan
Pandey said. Any income traceable to the use of fake bills
and other GST frauds shall be considered concealed
income and attract severe penalties so direct tax collections
may also get a leg-up while better compliance pushed GST
collections to a record high of  ̀ 1.15 lakh crore in December
2020.
All I, II, and III can be justified and inferred from the above
quoted lines. Hence, option (d) is the right answer choice.

162. (a) Refer to the second paragraph, the hint can be drawn
from the lines,
I think there is now a sense among the fringe elements, who
were trying to game the system that it is not going to be so
easy to continue in that fashion as the times have changed.
Here, (a) justifies the answer to 'fringe elements' as per the
above quoted lines. Hence, option (a) is the right answer
choice.

163. (c) Refer to the second paragraph, the hint can be drawn
from the lines,
"GST collections in December show the economy is
undoubtedly on the fast recovery track."
Here, only statement given in (c) is justified with the above
quoted lines. Hence, option (c) is the right answer choice.

164. (c) Refer to the third paragraph, the hint can be drawn
from the lines,
"Over the past one and a half months, 'concerted action'
has been taken to ensure compliance in the GST net, pooling
data with States, the Income Tax (IT) and Customs
departments, banks and other agencies, the Finance
Secretary said. "So we are today in a position to undertake
data analytics to pinpoint those who are trying to game the
system and take targeted action against such tax frauds."
Here, both statements mentioned in (a) and (b) are justified
with the above lines. Hence, option (c) is the right answer
choice.

165. (e) Here, refer to the below lines, the hint can be drawn from,
Statement (I): "Most of them had to spend 40-50 days in
jail, because the crime was so grave that the courts were
not inclined to give them bail.
Statement (II): I think there is now a sense among the
fringe elements, who were trying to game the system that

it is not going to be so easy to continue in that fashion as
the times have changed.
Statement (III): This co-ordinated action has also helped
bolster Customs revenues, which crossed the `16,000 crore
mark in December, 93% higher than the same period a year ago.
All the (I), (II), and (III) can be inferred as per the lines
given in the passage quoted above. Hence, option (e) is
the right answer choice.

166. (b) Bolster: Support or Strengthen
Augment: make (something) greater by adding to it; increase.
Hence, option (b) is the right answer choice.
Embroil: force into some kind of situation or course of action
Sententious: abounding in or given to pompous or
aphoristic moralizing
Vitiate: make imperfect
Unassuming: not arrogant

167. (b) "evade" can fit in the blank (A) to make the sentence
grammatically and contextually correct.
Evade: escape or avoid (someone or something), especially
by guile or trickery.
Quaff: swallow hurriedly or greedily or in one draught
Adage: a condensed but memorable saying embodying
an important fact
Maul: injure badly
Trite: repeated too often; over-familiar through overuse

168. (e) Rope in: To persuade, entice, or enlist someone to do
or participate in something. A noun or pronoun can be
used between "rope" and "in."
- to cause someone to get involved in some project.
Hence, option (e) is the right answer choice.

169. (d) The correct sequence of the given sentences is
DEBACF.
Hence, option (d) is the right answer choice.

170. (c) The correct sequence of the given sentences is DEBACF.
Hence, option (c) is the right answer choice.

171. (b) The correct sequence of the given sentences is
DEBACF.
Hence, option (b) is the right answer choice.

172. (b) The correct sequence of the given sentences is
DEBACF.
Hence, option (b) is the right answer choice.

173. (d) The correct sequence of the given sentences is
DEBACF.
Hence, option (d) is the right answer choice.

174. (a) The error is in (1) part of the given sentence.
Chick: a young bird
Chic: elegant and stylish
Hence, option (a) is the right answer choice.

175. (c) The error lies in part (3). "were" will be used instead
of "was". Here, "heartland states" and "crop losses" are
plural in number so plural verb will be used here. Hence,
option (c) is the right answer choice.

176. (e) The sentence is grammatically and contextually
correct. Since, there is no error in the given sentence; option
(e) is the right answer choice.

177. (b) The error is in part (2). The comparative degree of
"good" should be used here i.e. "better" to make the
sentence grammatically and contextually correct. Hence,
option (b) is the right answer choice.
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178. (d) The error is in part (4). Present perfect tense has been
used here and with "have" we use "third or past participle"
form of verb i.e. it should be "led" and not "lead". Hence,
option (d) is the right answer choice.

179. (d) A-F and C-E can be matched so that the sentences
formed are both meaningful and grammatically correct. The
sentences thus formed are:
A-F: The air hostess' PPE uniform makes him feel that he is
flying to space
C-E: Urdu was considered the language of poetry, but now
people associate it with terrorism.
Hence, option (d) is the right answer choice.

180. (b)
181. (a) B-E and C-F can be matched so that the sentences

formed are both meaningful and grammatically correct. The
sentences thus formed are:
B-E: The Trump administration certainly did achieve some
of the outlined objectives, particularly in expanding
security cooperation with India
C-F: The Delhi government will provide free COVID-19
vaccination to residents of the Capital if the Centre fails to do so.
Hence, option (a) is the right answer choice.

182. (e) A-E and C-F can be matched so that the sentences
formed are both meaningful and grammatically correct. The
sentences thus formed are:
A-E: The Board said the increased ammonia levels have
impaired its water treatment plants and a drinking water
crisis looms large in Delhi.
C-F: America's acrimony towards Cuba has its roots in the
Cold War period.
Hence, option (e) is the right answer choice.

183. (e) A-E,  B-F  and  C-D  can  be  matched  so  that  the
sentences formed are both meaningful and grammatically
correct. The sentences thus formed are:
A-E: It is important to have your presence in the digital
space to increase your revenue
B-F: Once the papers are evaluated by the teachers, answer
keys will be uploaded
C-D: To thwart any such nefarious activities, a vigorous
exercise has been carried out by the BSF troops all along
the border.
Hence, option (e) is the right answer choice.

184. (e) "Compromise" will fill the blank appropriately. Hence,
option (e) is the right answer choice.

185. (c) "Threaten" will fill the blank appropriately. Hence,
option (c) is the right answer choice.

186. (a) "Bequest" will fill the blank appropriately. Hence,
option (a) is the right answer choice.

187. (d) "Consume" will fill the blank appropriately. Hence,
option (d) is the right answer choice.

188. (b) "Extraction" will fill the blank appropriately. Hence,
option (b) is the right answer choice.

189. (e) In all 1, 2, and 3 sentences, the given word "disseminate"
fits contextually to convey a logical meaning. Hence, option
(e) is the right answer choice.
Disseminate: Spread (something, especially information)
widely.
Spread, Circulate, Distribute, Disperse

190. (c)
191. (e) In all 1, 2, and 3 sentences, the given word "efficacy"

fits contextually to convey a logical meaning. Hence, option
(e) is the right answer choice.
Efficacy: The ability to produce a desired or intended result.
Effectiveness, Success

192. (c) Stringent: Very strict.
Hard-line, Inflexible, Rigid, Rigorous (synonym)
Lax (antonym): not having high standards; not strict
Hence, option (c) is the right answer choice.

193. (e) Deter: To make somebody decide not to do something,
especially by telling him/her that it would have bad results.
Discourage, Dissuade, Inhibit
Dissuade (synonym): to persuade somebody not to do
something
Encourage (antonym): to give hope, support or confidence
to somebody
Hence, option (e) is the right answer choice.

194. (b) Captivate: to attract and hold somebody's attention
Disillusion: to destroy somebody's belief in or good
opinion of somebody/something
Hence, option (b) is the right answer choice.

195. (d) Acrimony: Angry and bitter feelings or words.
Bitterness, Rancour, Resentment
Hence, option (d) is the right answer choice.

196. (a) Sabotage: Deliberately destroy, damage, or obstruct
(something), especially for political or military advantage.
Wreck, Vandalize, Destroy, Obstruct
Hence, option (a) is the right answer choice.

197. (d) Muster: A formal gathering of troops, especially for
inspection, display, or exercise.
Assembly, Rally, Meeting, Convocation
Hence, option (d) is the right answer choice.

198. (b) Perfunctory: An action carried out without real
interest, feeling, or effort.
Cursory, Desultory, Quick, Brief, Hasty
Hence, option (b) is the right answer choice.

199. (c) Implicate: Show (someone) to be involved in a crime.
Incriminate, Compromise, Involve, Connect, Embroil
Hence, option (c) is the right answer choice.

200. (e) Tantamount: Equivalent in seriousness to; virtually
the same as.
As good as, On par with, Along the lines of
Hence, option (e) is the right answer choice.

201. (b)
202. (e) ftysV vesfjdk ns'k ds dkjksckjh FksA
203. (a) 204. (c) 205. (a)
206. (e) ftysV dks ,d daiuh esa DydZ dh ukSdjh feyh FkhA
207. (d) 208. (b) 209. (d) 210. (c) 211. (a) 212. (b)
213. (e) 214. (b) 215. (c) 216. (e) 217. (d) 218. (e)
219. (b) 220. (e) 221. (e) 222. (b) 223. (c) 224. (e)
225. (d) 226. (d) 227. (a) 228. (d) 229. (d) 230. (b)
231. (a) 232. (d) 233. (d) 234. (d) 235. (b) 236. (a)
237. (d) 238. (e) 239. (b) 240. (e)


